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FU??>5 ?5F>. 

%>7?4E=> 44==O< %� 131.13330.2020 «%�<� 23-01-99* %FD><F5?L=4O >?<<4F>?>7<O», 
?D>4>?6<F5?L=>EFL >F>?<F5?L=>7> ?5D<>44 E>EF46?O5F 213 4=5=. 

&5<?5D4FGD4 =4DG6=>7> 6>74GE4 4?O ?D>5>F<D>64=<O E<EF5<O >F>??5=<O E>EF46?O5F 
<<=GE 27#. 

�5E>?NF=O= <<=<<G< 3 <<=GE 45#. 
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$����� 1. ������&��� %'-�%&�'.-��� � 
��$%���&������ %�$�%� �� &�����'. -��$��. (��-��%&,) 
� &������%�&��, � '%&��������/% �$���&�% &�$$�&�$�� 
��%�����/, ��$��%���� ��$'��, ��$��� $���$��,���� 
���'���/ 

4) 65?<G<=O EGM5EF6GNM5= >F4??<645<>= ??>M44< EFD><F5?L=OE D>=4>6 < 
?D<D>EFO >F4??<645<>= ??>M44< EFD><F5?L=OE D>=4>6 ?> D4EG5F=O< M?5<5=F4< 
F5DD<F>D<4?L=>7> 45?5=<O E D4745?5=<5< >5N5>F>6 EFD><F5?LEF64 =4 <=>7>>64DF<D=O5 
4><4, <=4<6<4G4?L=O5 6<?O5 4><4, >5M5EF65==O5 744=<O < ?D><76>4EF65==O5 744=<O 
?D><OL?5==OE ?D54?D<OF<= ?> MF4?4< - =4 >464O= 7>4 ?5D6>7> 5-?5F=57> ?5D<>44 < =4 
?>E?54GNM<5 5-?5F=<5 ?5D<>4O (44?55 - MF4?O) 

%>7?4E=> �5=5D4?L=><G ??4=G <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 
?>E5?5=<5, ??4=<DGNFEO E?54GNM<5 ?D<D>EFO EFD><F5?L=OE D>=4>6: 

1) �<?<M=>5 EFD><F5?LEF6> 
3 D>D<<D>64=<5 7>=O <=4<6<4G4?L=>7> 6<?<M=>7> EFD><F5?LEF64 ??>M44LN 166,25 

74 
2) %D5D4 >5D47>64=<O: 

3 EFD><F5?LEF6> 45FE>>7> E444 =4 50 <5EF 6 ?>E. �L<=E>4O (DG=>F<>=4?L=4O 7>=4 �2 
3 7>=4 D47<5M5=<O >5N5>F>6 E>F<4?L=>= <=DD4EFDG>FGDO); 

3 D47<5M5=<5 45FE>>7> E444 =4 30 <5EF 6 744=<< 5O6L5= =4G4?L=>= L>>?O 6 45D. 
�5E5=5F (DG=>F<>=4?L=4O 7>=4 �2 3 7>=4 D47<5M5=<O >5N5>F>6 E>F<4?L=>= 
<=DD4EFDG>FGDO). 

3) %D5D4 D<7<G5E>>= >G?LFGDO < E?>DF4 
� E>>F65FEF6<< E> EE5<>= F5DD<F>D<4?L=>7> ??4=<D>64=<O �G6E>>7> <G=<F<?4?L=>7> 

D4=>=4: 
3 3 D47<5M5=<5 1 E?>DF<6=>7> 74?4 ??>M44LN 450 <2 (30;15 <2) 6 ?>E. �L<=E>4O =4 

5475 ??4=<DG5<>7> >G?LFGD=>-4>EG7>6>7> F5=FD4 (DG=>F<>=4?L=4O 7>=4 �2 3 7>=4 
D47<5M5=<O >5N5>F>6 E>F<4?L=>= <=DD4EFDG>FGDO). 

4) %D5D4 74D46>>ED4=5=<O: 
3 EFD><F5?LEF6> D5?L4L5DE>>-4>GL5DE>>7> ?G=>F4 6 ?>E. �D4E=O= �4O> 

(DG=>F<>=4?L=4O 7>=4 �2 3 7>=4 D47<5M5=<O >5N5>F>6 E>F<4?L=>= 
<=DD4EFDG>FGDO); 

3 EFD><F5?LEF6> D5?L4L5DE>>-4>GL5DE>>7> ?G=>F4 6 45D. �5E5=5F (DG=>F<>=4?L=4O 
7>=4 �2 3 7>=4 D47<5M5=<O >5N5>F>6 E>F<4?L=>= <=DD4EFDG>FGDO); 

3 EFD><F5?LEF6> D5?L4L5DE>>-4>GL5DE>>7> ?G=>F4 6 ?>E. �L<=E>4O 
(DG=>F<>=4?L=4O 7>=4 �2 3 7>=4 D47<5M5=<O >5N5>F>6 E>F<4?L=>= 
<=DD4EFDG>FGDO). 

&45?<F4 2. �?4=<DG5<O5 4?O D47<5M5=<O >5N5>FO >4?<F4?L=>7> EFD><F5?LEF64 
<5EF=>7> 7=4G5=<O ?>E5?5=<O 

7 
?/? 

�5N5>F 
>4?<F4?L=>7> 
EFD><F5?LEF64 

�5EF>?>?>65=<5 
>5N5>F41 

$G=>F<>=4?L=4O 
7>=4 

�<4 D45>F 
%D>> 

D54?<74F<< 

�?>M44L 
75<5?L=>7> 
GG4EF>4, 74 

�E=>6=O5 
E4D4>F5D<EF<>< >5N5>F4 

>4?<F4?L=>7> 
EFD><F5?LEF64 

 �5N5>FO >4?<F4?L=>7> EFD><F5?LEF64 >G?LFGD=>-4>EG7>6>7> =47=4G5=<O, E?>DF<6=>7> =47=4G5=<O 

1. 
�G?LFGD=>-
4>EG7>6O= 

F5=FD 
?>E. �L<=E>4O �2 D5>>=EFDG>F<O 2020 7. 0,41 

400 <5EF, E D47<5M5=<5< 
5<5?<>F5>< =4 10 FOE. 

54<=<F ED4=5=<O, 
?>4D>EF>>6>7> >?G54 80 
<2 < E?>DF<6=>7> 74?4 

450 <2 
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7 
?/? 

�5N5>F 
>4?<F4?L=>7> 
EFD><F5?LEF64 

�5EF>?>?>65=<5 
>5N5>F41 

$G=>F<>=4?L=4O 
7>=4 

�<4 D45>F 
%D>> 

D54?<74F<< 

�?>M44L 
75<5?L=>7> 
GG4EF>4, 74 

�E=>6=O5 
E4D4>F5D<EF<>< >5N5>F4 

>4?<F4?L=>7> 
EFD><F5?LEF64 

2. 
�>EG7>6O= 

F5=FD 
?>E. �D4E=O= 

�4O> 
�2 D5>>=EFDG>F<O 2020 7. 0,73 

100 <5EF, E D47<5M5=<5< 
?>4D>EF>>6>7> >?G54 40 
<2, E?>DF<6=>7> 74?4 450 

<2 

3. 
%5?LE><= 

>?G5 
45D. �<7>6E>4O �2 EFD><F5?LEF6> 2035 7. 0,76 

50 <5EF, E D47<5M5=<5< 
E?>DF<6=>7> 74?4 
??>M44LN 80 <2 

� F45?<F5 =<65 G>474=O >E=>6=O5 F5E=<>>-M>>=><<G5E><5 ?>>474F5?< �5=5D4?L=>7> 
??4=4 <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5. 

&45?<F4 3. �E=>6=O5 F5E=<>>-M>>=><<G5E><5 ?>>474F5?< �5=5D4?L=>7> ??4=4 

7, ?/? �>>474F5?< �4. <7<5D5=<O �4 01.01.2012 �4 2020 7. �4 2035 7. 
II. ��%������         

1. 
'<E?5==>EFL ?>EF>O==>7> 

=4E5?5=<O 3 6E57> 6 �L<=E>>< 
E5?LE>>< ?>E5?5=<< 

G5?. 3298 3650 4775 

2. �>7D4EF=4O EFDG>FGD4 =4E5?5=<O         

2.1. 
=4E5?5=<5 <?44L5 

FDG4>E?>E>5=>7> 6>7D4EF4 
G5?. 0,44 0,49 0,69 
% 13,4 13,5 14,5 

2.2. 
�4E5?5=<5 6 FDG4>E?>E>5=>< 

6>7D4EF5 
G5?. 2,07 2,22 2,86 
% 62,8 61 60 

2.3. 
=4E5?5=<5 EF4DL5 

FDG4>E?>E>5=>7> 6>7D4EF4 
G5?. 0,788 0,94 1,225 
% 23,8 25,5 25,5 

3. 
'<E?5==>EFL =4E5?5=<O, 74=OF>7> 

6 M>>=><<>5 =4 F5DD<F>D<< 
?>E5?5=<O 

FOE. G5?. 0,7 0,9 1,17 

4. 
'<E?5==>EFL E57>==>7> =4E5?5=<O 

3 6E57>, 6 F>< G<E?5: 
FOE. G5?. 85 85,5 86,2 

  3 6 7D4=<F4E =4E5?5==OE ?G=>F>6 FOE. G5?. 3,5 3,5 3,5 
III ����-�/� $���         

3.1. 
%D54=OO >55E?5G5==>EFL 

?>EF>O==>7> =4E5?5=<O >5M5= 
??>M44LN 

<2/G5?. 28 35 41 

3.2. 
�5M<= >5N5< 6<?<M=>7> D>=44 

3 6E57>: FOE. <2 165,3 200,8 269,3 
6 F>< G<E?5: 

3.2.1. 
�5N5< 6<?<M=>7> D>=44, 

>>F>DO= ?D<E>4<FEO =4 
?>EF>O==>5 =4E5?5=<5 

FOE. <2 92,3 127,8 196,3 

3.3. 
�5M<= >5N5< =>6>7> 6<?<M=>7> 

EFD><F5?LEF64 
FOE. <2 - 35,5 104 

3.4. 
�5M<= >5N5< G5O?< 6<?<M=>7> 

D>=44 
FOE. <2 - - - 

IV. 
�5N5>FO E>F<4?L=>7> < 

>G?LFGD=>-5OF>6>7> 
>5E?G6<64=<O =4E5?5=<O 

        

4.1. �5N5>FO >5D47>64=<O:         
  3 4>L>>?L=>7> >5D47>64=<O <5EF 180 260 260 
  3 >5M57> >5D47>64=<O <5EF 520 520 520 

4.2. �5N5>FO 74D46>>ED4=5=<O         

  
3 G<E?> >DG7?>EGF>G=OE >>5>/ 

>>5> 4=56=>7> ?D55O64=<O 
>>5> - - - 

  
3 <>M=>EFL 4<5G?4F>D=>-

?>?<>?<=<G5E><E GGD5645=<= 
?>E5M5=<= 6 

E<5=G 
75 83 83 

4.3. �5N5>FO E>F<4?L=>= 74M<FO <5EF - - - 

4.4. 
$<7>G?LFGD=>-E?>DF<6=O5 

E>>DG65=<O: 
        

4.4.1. - E?>DF<6=O5 74?O, 6E57> <2 665 1115 1645 

4.4.2. 
- ??>E>>EF=O5 E?>DF<6=O5 

E>>DG65=<O, 6E57> 
<2 8500 15852 15852 

4.5. �5N5>FO >G?LFGDO >?G5=>7> F<?4 <5EF 425 825 875 
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7, ?/? �>>474F5?< �4. <7<5D5=<O �4 01.01.2012 �4 2020 7. �4 2035 7. 

4.6. 
'GD5645=<O <>?>456=>= 

?>?<F<>< 54<=<F/<2 -/-  1/80 2/120 
3 ?>4D>EF>>6O5 >?G5O 

4.7. 
�5N5>FO D>7=<G=>= F>D7>6?< 
(<E>?NG4O D>7=<G=O5 DO=><) 

<2 F>D7>6>= 
??>M44< 

3990,61 4200 4485,39 

4.7.1. $>7=<G=O5 DO=>< <2 22400 22400 22400 
4.8. �5N5>FO >5M5EF65==>7> ?<F4=<O <5EF 32 146 191 

4.9. 
'GD5645=<O 5OF>6>7> 

>5E?G6<64=<O 
        

  3 54=< <5EF - 26 34 

VI. 
������$��/ 

��$$�%&$'�&'$� 
        

6.4. &5??>E=4565=<5         
6.4.1. �>FD55=>EFL F5??4 �>4?/G4E 5,242 7,18 7,18 

6.4.2. 
�D><76>4<F5?L=>EFL <EF>G=<>>6 

F5??>E=4565=<O 
�>4?/G4E 5,75 7,76 7,76 

6.4.3. �D>FO65==>EFL E5F5= >< 3,1 3,16 3,16 

5) EGM5EF6GNM<5 < ?5DE?5>F<6=O5 >5N5<O ?>FD55?5=<O F5??>6>= M=5D7<< 
(<>M=>EF<) < F5??>=>E<F5?O E D4745?5=<5< ?> 6<44< F5??>?>FD55?5=<O 6 >464>< 
D4EG5F=>< M?5<5=F5 F5DD<F>D<4?L=>7> 45?5=<O =4 >464>< MF4?5 

�=4G5=<O ?>FD55?5=<O F5??>6>= M=5D7<< 6 D4EG5F=OE M?5<5=F4E F5DD<F>D<4?L=>7> 
45?5=<O ?D< D4EG5F=OE F5<?5D4FGD4E =4DG6=>7> 6>74GE4 >E=>64=O =4 4=4?<75 F5??>6OE =47DG7>> 
?>FD55<F5?5= < G>474=O 6 F45?<F5 =<65. 

&45?<F4 4. �>FD55?5=<5 F5??>6>= M=5D7<< 45>=5=F4<< >F F5=FD4?<7>64==OE 
<EF>G=<>>6 F5??>6>= M=5D7<< =4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 
E5?LE>>5 ?>E5?5=<5 74 2022 7>4 

�4E5?5==O= 
?G=>F 

�OD45>F>4 
F5??>6>= M=5D7<<, 

�>4? 
�F?GE> 6 E5FL, �>4? 

�>?57=O= >F?GE> 
?>FD55<F5?O<, �>4? 

%>5EF65==O5 
=G64O, �>4? 

�>F5D<, �>4? 

?. �L<=E>4O 975,68 924,05 825,15 51,63 98,90 
?. �D4E=O= �4O> 

6693,129 6593,029 5722,698 100,100 870,331 
4. �5E5=5F 

�F>7>: 7668,808 7517,079 6547,848 151,729 969,231 

%>7?4E=> �5=5D4?L=><G ??4=G <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 
?>E5?5=<5, ?D<D>EF >5NU<>6 ?>FD55?5=<O F5??>6>= M=5D7<< (<>M=>EF<) < F5??>=>E<F5?O =5 
=45?N445FEO. 

&45?<F4 5. &5E=<>>-M>>=><<G5E><5 ?>?>65=<O 6 ED5D5 F5??>E=4565=<O E>7?4E=> 
�5=5D4?L=><G ??4=G <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 

7, ?/? �>>474F5?< �4. <7<5D5=<O �4 01.01.2012 �4 2020 7. �4 2035 7. 
6.4. &5??>E=4565=<5         

6.4.1. �>FD55=>EFL F5??4 �>4?/G4E 5,242 7,18 7,18 

6.4.2. 
�D><76>4<F5?L=>EFL 

<EF>G=<>>6 F5??>E=4565=<O 
�>4?/G4E 5,75 7,76 7,76 

6.4.3. �D>FO65==>EFL E5F5= >< 3,1 3,16 3,16 

6) EGM5EF6GNM<5 < ?5DE?5>F<6=O5 >5NU<O ?>FD55?5=<O F5??>6>= M=5D7<< 
(<>M=>EF<) < F5??>=>E<F5?O >5N5>F4<<, D4E?>?>65==O<< 6 ?D><76>4EF65==OE 7>=4E, =4 
>464>< MF4?5 

�D<D>EF ?>FD55?5=<O F5??>6>= M=5D7<< < F5??>=>E<F5?O 6 ?D><76>4EF65==OE 7>=4E 
45=EF6<O F5??>E=4565=<O =5 ??4=<DG5FEO. 
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7) EGM5EF6GNM<5 < ?5DE?5>F<6=O5 65?<G<=O ED54=56765L5==>= ??>F=>EF< 
F5??>6>= =47DG7>< 6 >464>< D4EGUF=>< M?5<5=F5 F5DD<F>D<4?L=>7> 45?5=<O, 7>=5 45=EF6<O 
>464>7> <EF>G=<>4 F5??>6>= M=5D7<<, >464>= E<EF5<5 F5??>E=4565=<O < ?> ?>E5?5=<N, 
7>D>4E>><G >>DG7G, 7>D>4G D545D4?L=>7> 7=4G5=<O 

%GM5EF6GNM<5 < ?5DE?5>F<6=O5 65?<G<=O ED54=56765L5==>= ??>F=>EF< F5??>6>= 
=47DG7>< G>47O645FEO E GGUF>< ??>M44< 45=EF6<O <EF>G=<>4 F5??>6>= M=5D7<< < =47DG7><, 
>>F>D4O > =5<G ?>4>?NG5=4. 

&45?<F4 6. %D54=56765L5==4O ??>F=>EFL F5??>6>= =47DG7>< =4 F5DD<F>D<< 
<G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 

�G=<F<?4?L=>5 >5D47>64=<5 %4D4>F5D<EF<>4 D>=44 2023 2027 

�L<=E>>5 E5?LE>>5 ?>E5?5=<5 
�<?<M=O= D>=4 4,74E-04 4,74E-04 

�5M5EF65==O= D>=4 1,07E-04 1,07E-04 
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$����� 2. %'-�%&�'.-�� � ��$%���&���/� �����%/ 
&������� ��-��%&� �%&�'����� &������� -��$��� � 
&������� ���$'��� ��&$���&���� 

4) >?<E4=<5 EGM5EF6GNM<E < ?5DE?5>F<6=OE 7>= 45=EF6<O E<EF5< F5??>E=4565=<O < 
<EF>G=<>>6 F5??>6>= M=5D7<< 

&5=FD4?<7>64==>5 F5??>E=4565=<5 <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 
?>E5?5=<5 >EGM5EF6?O5FEO 46G<O F5??>E=4564NM<<< >D74=<74F<O<<: ��� «&� %565D=4O» < 
��� «�5F5D5GD7F5??>M=5D7>». 

->E??G4F<DGNM4O >D74=<74F<O ��� «&� %565D=4O» =4E>4<FEO ?> 44D5EG: 191015, 7. 
%4=>F-�5F5D5GD7, G?. &65DE>4O, 4. 6, �<F. �, ?><. 4�. 

->E??G4F<DGNM4O >D74=<74F<O ��� «�5F5D5GD7F5??>M=5D7>» =4E>4<FEO ?> 44D5EG: 
196006, 7>D>4 %4=>F-�5F5D5GD7, �<7>6E><= ?D->F, 4. 266 EFD. 1, >D<E 11.1-=.199. 

&45?<F4 7. �5D5G5=L <EF>G=<>>6 F5??>6>= M=5D7<< <G=<F<?4?L=>7> >5D47>64=<O 
�L<=E>>5 E5?LE>>5 ?>E5?5=<5 

7 
?/? 

�4<<5=>64=<5 
<EF>G=<>4 

�4D5E %>5EF65==<> >>F5?L=>= 
->E??G4F<DGNM4O 

>D74=<74F<O 

1. ?. �L<=E>4O ?. �L<=E>4O, G?. �D>?5F4DE>4O, 16-4 
�G=<F<?4?L=> >5D47>64=<5 

�L<=E>>5 E5?LE>>5 ?>E5?5=<5 
��� "&� %565D=4O" 

2. ?. �D4E=O= �4O> ?. �D4E=O= �4O>, 5-4 ��� "�5F5D5GD7F5??>M=5D7>" ��� "�5F5D5GD7F5??>M=5D7>" 
3. 4. �5E5=5F 4. �5E5=5F, G?. �>?>456=4O, 5 ��� "�5F5D5GD7F5??>M=5D7>" ��� "�5F5D5GD7F5??>M=5D7>" 

 

�4 D<EG=>4E =<65 F65F>< 6O45?5=4 7>=4 45=EF6<O <EF>G=<>>6 F5??>6>= M=5D7<<. 
 

 

$<EG=>> 2. �>=4 45=EF6<O >>F5?L=>= ?. �L<=E>4O 



%E5<4 F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 �G6E>>7> <G=<F<?4?L=>7> 
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$<EG=>> 3. �>=4 45=EF6<O >>F5?L=>= ?. �D4E=O= �4O> 



%E5<4 F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 �G6E>>7> <G=<F<?4?L=>7> 
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$<EG=>> 4. �>=4 45=EF6<O >>F5?L=>= 4. �5E5=5F 

5) >?<E4=<5 EGM5EF6GNM<E < ?5DE?5>F<6=OE 7>= 45=EF6<O <=4<6<4G4?L=OE 
<EF>G=<>>6 F5??>6>= M=5D7<< 

%>7?4E=> �5=5D4?L=><G ??4=G <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 
?>E5?5=<5, ??4=<DGNFEO E?54GNM<5 ?D<D>EFO EFD><F5?L=OE D>=4>6: 

1) �<?<M=>5 EFD><F5?LEF6> 
3 D>D<<D>64=<5 7>=O <=4<6<4G4?L=>7> 6<?<M=>7> EFD><F5?LEF64 ??>M44LN 166,25 

74. 

6) EGM5EF6GNM<5 < ?5DE?5>F<6=O5 54?4=EO F5??>6>= <>M=>EF< < F5??>6>= 
=47DG7>< ?>FD55<F5?5= 6 7>=4E 45=EF6<O <EF>G=<>>6 F5??>6>= M=5D7<<, 6 F>< G<E?5 
D45>F4NM<E =4 54<=GN F5??>6GN E5FL, =4 >464>< MF4?5 

�4?4=EO F5??>6>= <>M=>EF< >>F5?L=OE < ?5DE?5>F<6=>= F5??>6>= =47DG7>< 6 >464>= 
7>=5 45=EF6<O <EF>G=<>>6 F5??>6>= M=5D7<< E >?D545?5=<5< D575D6>6 < 45D<F<F>6 >F=>E<F5?L=> 



%E5<4 F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 �G6E>>7> <G=<F<?4?L=>7> 
D4=>=4 �5=<=7D44E>>= >5?4EF< 4> 2028 7>44 
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EGM5EF6GNM5= F5??>6>= <>M=>EF< =5FF> <EF>G=<>>6 F5??>6>= M=5D7<< ?D<6545=O 6 F45?<F5 
=<65. 

&45?<F4 8. �4?4=EO F5??>6>= M=5D7<< (<>M=>EF<) 6 >464>= <7 F5E=>?>7<G5E><E 7>= 
45=EF6<O <EF>G=<>>6 F5??>6>= M=5D7<< E >?D545?5=<5< D575D6>6 (45D<F<F>6) 
EGM5EF6GNM5= D4E?>?4745<>= F5??>6>= <>M=>EF< <EF>G=<>>6 F5??>6>= M=5D7<< 
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EF
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FF
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?/
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�
>F
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F5
??

>6
>=

 M
=5

D7
<<

 
6 

F5
??

>6
O

E 
E5

FO
E,

 �
>4

?/
G �>?>65=<5 ?D< D47D45>F>5 �>FG4?<74F<< %E5<O ?> E>EF>O=<N =4 

2023 7. 

�47DG7>4 =4 
>F>??5=<5/65=F<?OF<N 

744=<=, �>4?/G 

�47DG7>4 
=4 ��% 
744=<=, 
�>4?/G 

%G<<4D=4O 
=47DG7>4, 

�>4?/G 

$575D6/45D<F<F 
F5??>6>= 
<>M=>EF< 
<EF>G=<>4, 

�>4?/G 

  
?. 

�L<=E>4O 
2,08 2,08 1,976 0,0490 0,4577 0 0,4577 1,518 

?. 
�D4E=O= 

�4O> 
2,58 2,58 2,540 0,1107 1,676618 0 1,676618 0,863 

4. 
�5E5=5F 

1,892 1,892 1,850 0,0813 1,231567 0 1,231567 0,618 

�F>7>: 6,552 6,552 6,366 0,240914 3,365885 0 3,365885 3,000 

 

$<EG=>> 5. %GM5EF6GNM<5 54?4=EO GEF4=>6?5==>=, ?>4>?NG5==>= < D575D6=>= 
<>M=>EF< F5=FD4?<7>64==OE <EF>G=<>>6 F5??>6>= M=5D7<< <G=<F<?4?L=>7> >5D47>64=<O 
�L<=E>>5 E5?LE>>5 ?>E5?5=<5 

�5DE?5>F<6=O5 F5??>6O5 =47DG7>< F5=FD4?<7>64==OE <EF>G=<>>6 F5??>6>= M=5D7<< 
<G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 ?D54EF46?5=O 6 F45?<F5 =<65. 

&45?<F4 9. �5DE?5>F<6=O5 F5??>6O5 54?4=EO F5=FD4?<7>64==OE <EF>G=<>>6 
F5??>6>= M=5D7<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 

�4<<5=>64=<5  
<EF>G=<>4 

F5??>E=4565=<O 
�>>474F5?L 2022 2023 2024 2025 2026 2027 2028 

?. �L<=E>4O 
'EF4=>6?5==4O <>M=>EFL NGEF, �>4?/G 2,08 2,08 2,08 0,69 0,69 0,69 0,69 

$4E?>?4745<4O <>M=>EFL, ND4E?, �>4?/G 2,08 2,08 2,08 0,69 0,69 0,69 0,69 

0

0,5

1

1,5

2

2,5

3

?. �L<=E>4O ?. �D4E=O= �4O> 4. �5E5=5F

'EF4=>6?5==4O <>M=>EFL NGEF, �>4?/G

%G<<4D=4O =47DG7>4, �>4?/G

$575D6/45D<F<F F5??>6>= <>M=>EF< <EF>G=<>4, �>4?/G



%E5<4 F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 �G6E>>7> <G=<F<?4?L=>7> 
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�4<<5=>64=<5  
<EF>G=<>4 

F5??>E=4565=<O 
�>>474F5?L 2022 2023 2024 2025 2026 2027 2028 

&5??>64O <>M=>EFL =5FF>, N=F, �>4?/G 1,98 1,98 1,98 0,68 0,68 0,68 0,68 

�47DG7>4, �>4?/G 0,46 0,46 0,46 0,46 0,46 0,46 0,46 

�>F5D< 6 F5??>6OE E5FOE, �>4?/G 0,05 0,05 0,05 0,05 0,05 0,05 0,05 

$575D6(+)/�5D<F<F(-), �>4?/G 1,52 1,52 1,52 0,22 0,22 0,22 0,22 

?. �D4E=O= �4O> 

'EF4=>6?5==4O <>M=>EFL NGEF, �>4?/G 2,58 2,58 2,58 2,58 2,58 2,58 2,58 

$4E?>?4745<4O <>M=>EFL, ND4E?, �>4?/G 2,58 2,58 2,58 2,58 2,58 2,58 2,58 

&5??>64O <>M=>EFL =5FF>, N=F, �>4?/G 2,54 2,54 2,54 2,54 2,54 2,54 2,54 

�47DG7>4, �>4?/G 1,68 1,68 1,68 1,68 1,68 1,68 1,68 

�>F5D< 6 F5??>6OE E5FOE, �>4?/G 0,11 0,11 0,11 0,11 0,11 0,11 0,11 

$575D6(+)/�5D<F<F(-), �>4?/G 0,86 0,86 0,86 0,86 0,86 0,86 0,86 

4. �5E5=5F 

'EF4=>6?5==4O <>M=>EFL NGEF, �>4?/G 1,89 1,89 1,89 1,89 1,89 1,89 1,89 

$4E?>?4745<4O <>M=>EFL, ND4E?, �>4?/G 1,89 1,89 1,89 1,89 1,89 1,89 1,89 

&5??>64O <>M=>EFL =5FF>, N=F, �>4?/G 1,85 1,85 1,85 1,85 1,85 1,85 1,85 

�47DG7>4, �>4?/G 1,23 1,23 1,23 1,23 1,23 1,23 1,23 

�>F5D< 6 F5??>6OE E5FOE, �>4?/G 0,08 0,08 0,08 0,08 0,08 0,08 0,08 

$575D6(+)/�5D<F<F(-),�>4?/G 0,62 0,62 0,62 0,62 0,62 0,62 0,62 

7) ?5DE?5>F<6=O5 54?4=EO F5??>6>= <>M=>EF< <EF>G=<>>6 F5??>6>= M=5D7<< < 
F5??>6>= =47DG7>< ?>FD55<F5?5= 6 E?GG45, 5E?< 7>=4 45=EF6<O <EF>G=<>4 F5??>6>= M=5D7<< 
D4E?>?>65=4 6 7D4=<F4E 46GE <?< 5>?55 ?>E5?5=<=, 7>D>4E><E >>DG7>6 ?<5> 6 7D4=<F4E 
7>D>4E>>7> >>DG74 (?>E5?5=<O) < 7>D>44 D545D4?L=>7> 7=4G5=<O <?< 7>D>4E><E >>DG7>6 
(?>E5?5=<=) < 7>D>44 D545D4?L=>7> 7=4G5=<O, E G>474=<5< 65?<G<=O F5??>6>= =47DG7>< 4?O 
?>FD55<F5?5= >464>7> ?>E5?5=<O, 7>D>4E>>7> >>DG74, 7>D>44 D545D4?L=>7> 7=4G5=<O 

�4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 >FEGFEF6GNF 
<EF>G=<>< F5??>6>= M=5D7<<, D4E?>?>65==O5 6 7D4=<F4E 46GE <?< 5>?55 7>D>4E><E >>DG7>6. 

4) D44<GE MDD5>F<6=>7> F5??>E=4565=<O, >?D545?O5<O= 6 E>>F65FEF6<< E 
<5F>4<G5E><<< G>474=<O<< ?> D47D45>F>5 EE5< F5??>E=4565=<O 

� $545D4?L=>< 74>>=5 7190-$� «� F5??>E=4565=<<» 66>4<FEO ?>=OF<5 D44<GE4 
MDD5>F<6=>7> F5??>E=4565=<O 3 <4>E<<4?L=>5 D4EEF>O=<5 >F F5??>?>FD55?ONM5= GEF4=>6>< 4> 
5?<64=L57> <EF>G=<>4 F5??>6>= M=5D7<< 6 E<EF5<5 F5??>E=4565=<O, ?D< ?D56OL5=<< >>F>D>7> 
?>4>?NG5=<5 F5??>?>FD55?ONM5= GEF4=>6>< > 44==>= E<EF5<5 F5??>E=4565=<O 
=5F5?5E>>5D47=> ?> ?D<G<=5 G65?<G5=<O E>6>>G?=OE D4EE>4>6 6 E<EF5<5 F5??>E=4565=<O. 
$44<GE F5??>E=4565=<O >?D545?O5F 7D4=<FG 7>=O 45=EF6<O <EF>G=<>4 F5??4 < 4>?65= 
6>?NG4FLEO 6 EE5<G F5??>E=4565=<O >4> 55 >5O74F5?L=O= ?4D4<5FD. 

$57G?LF4FO D4EGUF4 D44<GE4 MDD5>F<6=>7> F5??>E=4565=<O ?D54EF46?5=O 6 F45?<F5 =<65. 

&45?<F4 10. $44<GE MDD5>F<6=>7> F5??>E=4565=<O 

7 ?/? �EF>G=<> F5??>6>= M=5D7<< -DD5>F<6=O= D44<GE, >< 
1 >>F5?L=4O ?. �L<=E>4O 0,685 
2 >>F5?L=4O ?. �D4E=O= �4O> 1,166 
3 >>F5?L=4O 4. �5E5=5F 0,683 
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$<EG=>> 6. $44<GE MDD5>F<6=>7> F5??>E=4565=<O >>F5?L=>= ?. �L<=E>4O 

 



%E5<4 F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 �G6E>>7> <G=<F<?4?L=>7> 
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$<EG=>> 7. $44<GE MDD5>F<6=>7> F5??>E=4565=<O >>F5?L=>= ?. �L<=E>4O 

 



%E5<4 F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 �G6E>>7> <G=<F<?4?L=>7> 
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$<EG=>> 8. $44<GE MDD5>F<6=>7> F5??>E=4565=<O >>F5?L=>= 4. �5E5=5F 



%E5<4 F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 �G6E>>7> <G=<F<?4?L=>7> 
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$����� 3. %'-�%&�'.-�� � ��$%���&���/� �����%/ 
&������%�&��/ 

4) EGM5EF6GNM<5 < ?5DE?5>F<6=O5 54?4=EO ?D><76>4<F5?L=>EF< 
6>4>?>47>F>6<F5?L=OE GEF4=>6>> < <4>E<<4?L=>7> ?>FD55?5=<O F5??>=>E<F5?O 
F5??>?>FD55?ONM<<< GEF4=>6>4<< ?>FD55<F5?5= 

� E>>F65FEF6<< E %� 124.13330.2012 (4>FG4?<7<D>64==4O D544>F<O «%�<� 41-02-2003 
&5??>6O5 E5F<»), GEF4=>6>4 4?O ?>4?<F>< E<EF5<O F5??>E=4565=<O =4 F5??><EF>G=<>5 4>?6=4 
>55E?5G<64FL ?>44GG 6 F5??>6GN E5FL 6 D45>G5< D56<<5 6>4G E>>F65FEF6GNM57> >4G5EF64 < 
464D<==GN ?>4?<F>G 6>4>= <7 E<EF5< E>7O=EF65==>-?<FL56>7> <?< ?D><76>4EF65==>7> 
6>4>?D>6>4>6. $4EE>4 ?>4?<F>G=>= 6>4O 6 D45>G5< D56<<5 4>?65= >><?5=E<D>64FL D4EG5F=O5 
(=>D<<DG5<O5) ?>F5D< E5F56>= 6>4O 6 E<EF5<5 F5??>E=4565=<O. $4EG5F=O5 (=>D<<DG5<O5) 
?>F5D< E5F56>= 6>4O 6 E<EF5<5 F5??>E=4565=<O 6>?NG4NF D4EG5F=O5 F5E=>?>7<G5E><5 ?>F5D< 
(74FD4FO) E5F56>= 6>4O < ?>F5D< E5F56>= 6>4O E =>D<4F<6=>= GF5G>>= <7 F5??>6>= E5F< < E<EF5< 
F5??>?>FD55?5=<O. %D54=57>4>64O GF5G>4 F5??>=>E<F5?O (<3/G) <7 6>4O=OE F5??>6OE E5F5= 
4>?6=4 5OFL =5 5>?55 0,25 % ED54=57>4>6>7> >5N5<4 6>4O 6 F5??>6>= E5F< < ?D<E>54<=5==OE 
E<EF5<4E F5??>E=4565=<O =5746<E<<> >F EE5<O ?D<E>54<=5=<O (74 <E>?NG5=<5< E<EF5< 7>DOG57> 
6>4>E=4565=<O, ?D<E>54<=5==OE G5D57 6>4>?>4>7D564F5?<). %57>==4O =>D<4 GF5G>< 
F5??>=>E<F5?O GEF4=46?<645FEO 6 ?D545?4E ED54=57>4>6>7> 7=4G5=<O.  

�?O >F>DOFOE < 74>DOFOE E<EF5< F5??>E=4565=<O 4>?6=4 ?D54GE<4FD<64FLEO 
4>?>?=<F5?L=> 464D<==4O ?>4?<F>4 E<<<G5E>< =5 >5D45>F4==>= < =5454MD<D>64==>= 6>4>=, 
D4EE>4 >>F>D>= ?D<=<<45FEO 6 >>?<G5EF65 2% ED54=57>4>6>7> >5N5<4 6>4O 6 F5??>6>= E5F< < 
?D<E>54<=5==OE E<EF5<4E F5??>E=4565=<O =5746<E<<> >F EE5<O ?D<E>54<=5=<O (74 
<E>?NG5=<5< E<EF5< 7>DOG57> 6>4>E=4565=<O, ?D<E>54<=5==OE G5D57 6>4>?>4>7D564F5?<), 5E?< 
4DG7>5 =5 ?D54GE<>FD5=> ?D>5>F=O<< (M>E??G4F4F<>==O<<) D5L5=<O<<. �?O >F>DOFOE E<EF5< 
F5??>E=4565=<O 464D<==4O ?>4?<F>4 4>?6=4 >55E?5G<64FLEO F>?L>> <7 E<EF5< E>7O=EF65==>-
?<FL56>7> 6>4>E=4565=<O. 

� <G=<F<?4?L=>< >5D47>64=<< �L<=E>>5 E5?LE>>5 ?>E5?5=<5 6 >4G5EF65 F5??>=>E<F5?O 
4?O ?5D544G< F5??>6>= M=5D7<< >F <EF>G=<>4 4> ?>FD55<F5?5= <E?>?L7G5FEO 7>DOG4O 6>44. 
�4G5EF6> <E?>?L7G5<>= 6>4O 4>?6=> >55E?5G<64FL D45>FG >5>DG4>64=<O E<EF5<O 
F5??>E=4565=<O 557 ?D56OL4NM<E 4>?GEF<<O5 =>D<O >F?>65=<= =4><?< < L?4<4, 557 
>>DD>7<>==OE ?>6D5645=<=, ?>MF><G <EE>4=GN 6>4G =5>5E>4<<> ?>465D74FL >5D45>F>5 6 
6>4>?>47>F>6<F5?L=OE GEF4=>6>4E. 

�>4>E=4565=<5 >>F5?L=OE >EGM5EF6?O5FEO ?GFU< 745>D4 6>4O <7 F5=FD4?L=>= E<EF5<O 
6>4>E=4565=<O. 

�4?4=EO F5??>=>E<F5?O 5O?< 6OG<E?5=O ?> D57G?LF4F4< D4EGUF4 6 ?D>7D4<<=>< 
>><??5>E5 ZuluThermo 8.0. $57G?LF4FO ?D<6545=O 6 F45?<F5 =<65. 

&45?<F4 11. �4?4=EO F5??>=>E<F5?O <EF>G=<>>6 F5=FD4?<7>64==>7> 
F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=< 

�4<<5=>64=<5 >>F5?L=>= �>>474F5?< $4EE>4 E5F56>= 6>4O, F/G 

?. �L<=E>4O 

%G<<4D=O= D4EE>4 6 ?>44NM5< FDG5>?D>6>45 18,326 
%G<<4D=O= D4EE>4 6 >5D4F=>< FDG5>?D>6>45 18,256 

%G<<4D=O= D4EE>4 =4 E<EF5<G >F>??5=<O 18,308 
�>4?<F>4 0,071 

?. �D4E=O= �4O> 

%G<<4D=O= D4EE>4 6 ?>44NM5< FDG5>?D>6>45 67,1 
%G<<4D=O= D4EE>4 6 >5D4F=>< FDG5>?D>6>45 66,854 

%G<<4D=O= D4EE>4 =4 E<EF5<G >F>??5=<O 67,04 
�>4?<F>4 0,246 



%E5<4 F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 �G6E>>7> <G=<F<?4?L=>7> 
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�4<<5=>64=<5 >>F5?L=>= �>>474F5?< $4EE>4 E5F56>= 6>4O, F/G 

4. �5E5=5F 

%G<<4D=O= D4EE>4 6 ?>44NM5< FDG5>?D>6>45 49,103 
%G<<4D=O= D4EE>4 6 >5D4F=>< FDG5>?D>6>45 48,922 

%G<<4D=O= D4EE>4 =4 E<EF5<G >F>??5=<O 49,08 
�>4?<F>4 0,181 

5) EGM5EF6GNM<5 < ?5DE?5>F<6=O5 54?4=EO ?D><76>4<F5?L=>EF< 
6>4>?>47>F>6<F5?L=OE GEF4=>6>> <EF>G=<>>6 F5??>6>= M=5D7<< 4?O >><?5=E4F<< ?>F5DL 
F5??>=>E<F5?O 6 464D<==OE D56<<4E 

�D< 6>7=<>=>65=<< 464D<==>= E<FG4F<< =4 ?N5>< GG4EF>5 <47<EFD4?L=>7> FDG5>?D>6>44, 
6>7<>6=> >D74=<7>64FL >55E?5G5=<5 ?>4?<F>< F5??>6>= E5F< <7 7>=O 45=EF6<O E>E54=57> 
<EF>G=<>4 ?GF5< <E?>?L7>64=<O E6O7< <564G <47<EFD4?L=O<< FDG5>?D>6>44<< <EF>G=<>>6 <?< 
74 EG5F <E?>?L7>64=<O EGM5EF6GNM<E 54>>6 4>>G<G?OF>D>6. �D< E5DL57=OE 464D<OE, 6 E?GG45 
=54>EF4F>G=>7> >5N5<4 ?>4?<F>< E<<<G5E>< >5D45>F4==>= 6>4O, 4>?GE>45FEO <E?>?L7>64FL 
«EODGN» 6>4G. 

%>7?4E=> ?.6.22 %� 124.13330.2012 (4>FG4?<7<D>64==4O D544>F<O «%�<� 41-02-2003 
&5??>6O5 E5F<»), «�?O >F>DOFOE < 74>DOFOE E<EF5< F5??>E=4565=<O 4>?6=4 ?D54GE<4FD<64FLEO 
4>?>?=<F5?L=> 464D<==4O ?>4?<F>4 E<<<G5E>< =5 >5D45>F4==>= < =5 454MD<D>64==>= 6>4>=, 
D4EE>4 >>F>D>= ?D<=<<45FEO 6 >>?<G5EF65 2 % ED54=57>4>6>7> >5N5<4 6>4O 6 F5??>6>= E5F< < 
?D<E>54<=5==OE E<EF5<4E F5??>E=4565=<O =5746<E<<> >F EE5<O ?D<E>54<=5=<O (74 
<E>?NG5=<5< E<EF5< 7>DOG57> 6>4>E=4565=<O, ?D<E>54<=5==OE G5D57 6>4>?>4>7D564F5?<), 5E?< 
4DG7>5 =5 ?D54GE<>FD5=> ?D>5>F=O<< (M>E??G4F4F<>==O<<) D5L5=<O<<. �D< =4?<G<< 
=5E>>?L><E >F45?L=OE F5??>6OE E5F5=, >FE>4OM<E >F >>??5>F>D4 <EF>G=<>4 F5??4, 464D<==GN 
?>4?<F>G 4>?GE>45FEO >?D545?OFL F>?L>> 4?O >4=>= =4<5>?LL5= ?> >5N5<G F5??>6>= E5F<. �?O 
>F>DOFOE E<EF5< F5??>E=4565=<O 464D<==4O ?>4?<F>4 4>?6=4 >55E?5G<64FLEO F>?L>> <7 E<EF5< 
E>7O=EF65==>-?<FL56>7> 6>4>E=4565=<O». 

&45?<F4 12. �>4?<F>4 F5??>6>= E5F< 74 2022 7>4 

�4<<5=>64=<5 >>F5?L=>= �>4?<F>4 F5??>6>= E5F<, FOE. F/7>4 
?. �L<=E>4O 0,277 

?. �D4E=O= �4O> 0,37 
4. �5E5=5F 0,26 

�F>7>: 0,899 

&45?<F4 13. �>D<4F<6=O5 >5NU<O 464D<==>= ?>4?<F>< F5??>6OE E5F5= >F 
F5=FD4?<7>64==OE <EF>G=<>>6 F5??>6>= M=5D7<< =4 F5DD<F>D<< <G=<F<?4?L=>7> 
>5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 

�4<<5=>64=<5 >>F5?L=>= %D54=57>4>6>= >5NU< F5??>6OE E5F5=, <3 �5NU< 464D<==>= ?>4?<F><, <3 
?. �L<=E>4O 9,34 0,187 

?. �D4E=O= �4O> 24,21 0,484 
4. �5E5=5F 14,06 0,281 
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$����� 4. �%����/� ��������/ ��%&�$-����� $����&�/ 
%�%&�� &����%�������/ ��%�����/, ��$��%���� ��$'��, 
��$��� $���$��,���� ���'���/. 

4) >?<E4=<5 EF5=4D<56 D476<F<O F5??>E=4565=<O ?>E5?5=<O, 7>D>4E>>7> >>DG74, 
7>D>44 D545D4?L=>7> 7=4G5=<O 

�4EF>OM4O 4>FG4?<7<D>64==4O %E5<4 ?D54GE<4FD<645F 464 64D<4=F4 D476<F<O 
F5=FD4?<7>64==>= E<EF5<O F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 
?>E5?5=<5. 

�==>64F<>==O= EF5=4D<= (?5D6O= 64D<4=F) ?D54?>?4745F E>ED4=5=<5 ?>?>6<F5?L=OE 
F5=45=F<= (6>?NG4O =>6>5 6<?<M=>5 EFD><F5?LEF6>), 4 F4>65 ?D>6545=<5 ?>?<F<><, 
=4?D46?5==>= =4 ?>6OL5=<O >4G5EF64 6<7=545OF5?L=>EF< =4 F5DD<F>D<< ?>E5?5=<O, 6 ?5D6GN 
>G5D54L, 74 EG5F ?>6OL5=<O F5<?>6 D476<F<O M>>=><<><, D476<F<O =>6OE >FD4E?5= M>>=><<><, 
E>744=<< =>6OE D45>G<E <5EF =4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 
?>E5?5=<5. �>O6?5=<5 =>6OE D45>G<E <5EF ?D<6545F > ?>6OL5=<N ?D<6?5>4F5?L=>EF< ?>E5?5=<O 
4?O D45>FO < ?D>6<64=<O, > D>EFG <<7D4F<>==>7> ?D<F>>4 6 ?>E5?5=<5 < E>>D4M5=<N >FF>>4 
<>?>456<. 

$5D>D<<D>64=<5 5N465F=>7> ?D>F5EE4, D4F<>=4?L=>5 D4E?D545?5=<5 5N465F=OE 
ED54EF6, E>FDG4=<G5EF6> E >D74=4<< G?D46?5=<O <G=<F<?4?L=O< D4=>=>< ?>76>?<F ?>6OE<FL 
4>?N D4EE>4>6 =4 E>F<4?L=GN ED5DG. $54?<74F<O EF5=4D<O G?D46?O5<>7> D476<F<O ?>76>?<F 
D5L<FL EGM5EF6GNM<5 ?D>5?5<O ?>E5?5=<O 6 D4<>4E ?>?=><>G<= <G=<F<?4?L=>7> >5D47>64=<O, 
4 F4>65 4>EF<GL >E=>6=OE F5?5= E>F<4?L=>-M>>=><<G5E>>7> D476<F<O. 

�==>64F<>==O= EF5=4D<= ?D54?>?4745F ?>6OL5=<5 GD>6=O >4G5EF64 ED54O ?D>6<64=<O 6 
?>E5?5=<<: ?>6OL5=<5 GD>6=O 6<?<M=>= >55E?5G5==>EF< < >55E?5G5==>EF< E>F<4?L=>-
>G?LFGD=O<< < 5OF>6O<< GE?G74<< =4E5?5=<O ?>E5?5=<O 4> 2028 7>44. �==>64F<>==O= 
EF5=4D<= ?D54GE<4FD<645F ?>6OL5=<5 F5<?>6 D476<F<O M>>=><<><, ?>O6?5=<5 =>6OE D45>G<E 
<5EF 6 ?>E5?5=<<, ?>6OL5=<5 G<E?5==>EF< =4E5?5=<O (74 EG5F <<7D4F<>==>7> ?D<F>>4 < 
5EF5EF65==>7> G65?<G5=<O =4E5?5=<O), 6OE>><= GD>65=L 5?47>GEFD>5==>EF< G4EF< 6<?<M=>7> 
D>=44. &4><5 F5=45=F<< ?D<654GF > ?>6OL5=<N F5<?>6 D>EF4 M>>=><<><, ?>6OL5=<N GD>6=O 
5N465F=>= >55E?5G5==>EF< <, 6 44?L=5=L5<, > 6>7<>6=>EF< GG4EF<O 6 D57<>=4?L=OE < 
<G=<F<?4?L=OE 44D5E=OE < F5?56OE ?D>7D4<<4E. %>7?4E=> D4EG5F4<, > 2028 7>4G >6<445<4O 
G<E?5==>EFL =4E5?5=<O <G=<F<?4?L=>7> >5D47>64=<O E>EF46<F 4112 G5?>65>.  

�F>D>= 64D<4=F 3 <=5DF<>==O=. �= >E=>64= =4 ED54=5EF4F<EF<G5E><E 44==OE > 
G<E?5==>EF< =4E5?5=<O 74 ?D>L?O5 7>4O (2017-2022), ?D54>EF46?5==OE 44<<=<EFD4F<5= 
<G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 < =4 E>ED4=5=<< 4>EF<7=GFOE 
EGM5EF6GNM<E F5=45=F<= < >FEGFEF6<< 44?L=5=L57> EFD><F5?LEF64 >4> 6<?>7>, F4> < E>F<4?L=>-
7=4G<<>7> D>=4>6 6 >5NU<4E, >?D545?5==OE �5=5D4?L=O< ??4=><. '<E?5==>EFL =4E5?5=<O 5G45F 
G5O64FL. 

5) >5>E=>64=<5 6O5>D4 ?D<>D<F5F=>7> EF5=4D<O D476<F<O F5??>E=4565=<O 
?>E5?5=<O, 7>D>4E>>7> >>DG74, 7>D>44 D545D4?L=>7> 7=4G5=<O 

� D4EE<>FD5==OE 64D<4=F4E D476<F<O E<EF5<O F5??>E=4565=<O ?>FD55=>EFL 6 
>4?<F4?>6?>65=<OE ?5D6>7> 64D<4=F4 7=4G<F5?L=> 6OL5, >4=4>> MF> ?>76>?<F 7=4G<F5?L=> 
E>>D4F<FL F5??>6O5 ?>F5D<, ?>6OE<F =4456=>EFL E5F5= F5??>E=4565=<O < 5G45F E?>E>5EF6>64FL 
>4G5EF65==><G E=4565=<N F5??>6>= M=5D7<5= ?>FD55<F5?5=.  

%D46=5=<5 64D<4=F>6 D476<F<O F5=FD4?<7>64==>= E<EF5<O F5??>E=4565=<O 
<G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 ?D54EF46?5=> 6 F45?<F5 =<65. 
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&45?<F4 14. %D46=5=<5 64D<4=F>6 D476<F<O <G=<F<?4?L=>7> >5D47>64=<O 
�L<=E>>5 E5?LE>>5 ?>E5?5=<5 

�4<<5=>64=<5 ?4D4<5FD4 
1 �4D<4=F 3 �==>64F<>==O= 

(?D>7=>7<DG5FEO ?D<D>EF 
=4E5?5=<O) 

2 �4D<4=F 3 �=5DF<>==O= (?D>7=>7<DG5FEO 
G5O?L =4E5?5=<O) 

�O6>4 <EF>G=<>>6 <7 M>E??G4F4F<< �5F �5F 
%FD><F5?LEF6> <EF>G=<>>6 

F5??>E=4565=<O  
�5F �5F 

�>45D=<74F<O >>F5?L=OE �4 �5F 

%FD><F5?LEF6> E5F5= �5F �5F 

�>45D=<74F<O E5F5= �4 �5F 
'EF4=>6>4 >5M54><>6OE ?D<5>D>6 GG5F4 �4 �4 

�/���/ 

�>45D=<74F<O EGM5EF6GNM<E 
<EF>G=<>>6 F5??>E=4565=<O; 

<>45D=<74F<O F5??>6OE E5F5=; 
GEF4=>6>4 >5M54><>6OE ?D<5>D>6 

GG5F4 

'EF4=>6>4 >5M54><>6OE ?D<5>D>6 GG5F4 
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$����� 5. �$��������/ �� %&$��&��,%&�', 
$����%&$'�&��, &�%��'�%���' ��$����$'����. � (���) 
����$����&�� �%&�'����� &������� -��$��� 

4) ?D54?>65=<O ?> EFD><F5?LEF6G <EF>G=<>>6 F5??>6>= M=5D7<<, >55E?5G<64NM<E 
?5DE?5>F<6=GN F5??>6GN =47DG7>G =4 >E64<645<OE F5DD<F>D<OE ?>E5?5=<O, 7>D>4E>>7> 
>>DG74, 7>D>44 D545D4?L=>7> 7=4G5=<O, 4?O >>F>DOE >FEGFEF6G5F 6>7<>6=>EFL < (<?<) 
F5?5E>>5D47=>EFL ?5D544G< F5??>6>= M=5D7<< >F EGM5EF6GNM<E <?< D5>>=EFDG<DG5<OE 
<EF>G=<>>6 F5??>6>= M=5D7<<, >5>E=>64==4O D4EGUF4<< F5=>6OE (F4D<D=OE) ?>E?54EF6<= 
4?O ?>FD55<F5?5= < D44<GE4 MDD5>F<6=>7> F5??>E=4565=<O 

%>7?4E=> 44==O<, ?D54>EF46?5==O< 44<<=<EFD4F<5= <G=<F<?4?L=>7> >5D47>64=<O 
�L<=E>>5 E5?LE>>5 ?>E5?5=<5, ??4=<DGNFEO E?54GNM55 <5D>?D<OF<5 6 ED5D5 F5??>E=4565=<O: 

3 �. �L<=E>4O - �>45D=<74F<O >>F5?L=>= E ?5D56>4>< E G7>?L=>7> =4 747>6>5 
F>??<6>. 

 
�5D<>4 D54?<74F<< <5D>?D<OF<= ?> ?5D56>4G >>F5?L=>= E G7?O =4 ?D<D>4=O= 747 3 2025 

7>4. 
�5DE?5>F<6=4O GEF4=>6?5==4O F5??>64O <>M=>EFL ?>E?5 <>45D=<74F<< >>F5?L=>= ?. 

�L<=E>4O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 E>EF46<F 0,688 �>4?/G. 

5) ?D54?>65=<O ?> D5>>=EFDG>F<< <EF>G=<>>6 F5??>6>= M=5D7<<, >55E?5G<64NM<E 
?5DE?5>F<6=GN F5??>6GN =47DG7>G 6 EGM5EF6GNM<E < D4EL<DO5<OE 7>=4E 45=EF6<O 
<EF>G=<>>6 F5??>6>= M=5D7<< 

%>7?4E=> 44==O<, ?D54>EF46?5==O< 44<<=<EFD4F<5= <G=<F<?4?L=>7> >5D47>64=<O 
�L<=E>>5 E5?LE>>5 ?>E5?5=<5, ??4=<DGNFEO E?54GNM55 <5D>?D<OF<5 6 ED5D5 F5??>E=4565=<O: 

3 �. �L<=E>4O - �>45D=<74F<O >>F5?L=>= E ?5D56>4>< E G7>?L=>7> =4 747>6>5 
F>??<6>. 

 
�5D<>4 D54?<74F<< <5D>?D<OF<= ?> ?5D56>4G >>F5?L=>= E G7?O =4 ?D<D>4=O= 747 3 2025 

7>4. 
�5DE?5>F<6=4O GEF4=>6?5==4O F5??>64O <>M=>EFL ?>E?5 <>45D=<74F<< >>F5?L=>= ?. 

�L<=E>4O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 E>EF46<F 0,688 �>4?/G. 

6) ?D54?>65=<O ?> F5E=<G5E>><G ?5D56>>DG65=<N < (<?<) <>45D=<74F<< <EF>G=<>>6 
F5??>6>= M=5D7<< E F5?LN ?>6OL5=<O MDD5>F<6=>EF< D45>FO E<EF5< F5??>E=4565=<O 

%>7?4E=> 44==O<, ?D54>EF46?5==O< 44<<=<EFD4F<5= <G=<F<?4?L=>7> >5D47>64=<O 
�L<=E>>5 E5?LE>>5 ?>E5?5=<5, ??4=<DGNFEO E?54GNM55 <5D>?D<OF<5 6 ED5D5 F5??>E=4565=<O: 

3 �. �L<=E>4O - �>45D=<74F<O >>F5?L=>= E ?5D56>4>< E G7>?L=>7> =4 747>6>5 
F>??<6>. 

 
�5D<>4 D54?<74F<< <5D>?D<OF<= ?> ?5D56>4G >>F5?L=>= E G7?O =4 ?D<D>4=O= 747 3 2025 

7>4. 
�5DE?5>F<6=4O GEF4=>6?5==4O F5??>64O <>M=>EFL ?>E?5 <>45D=<74F<< >>F5?L=>= ?. 

�L<=E>4O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 E>EF46<F 0,688 �>4?/G. 

7) 7D4D<>< E>6<5EF=>= D45>FO <EF>G=<>>6 F5??>6>= M=5D7<<, DG=>F<>=<DGNM<E 6 
D56<<5 >><5<=<D>64==>= 6OD45>F>< M?5>FD<G5E>>= < F5??>6>= M=5D7<< < >>F5?L=OE 

�4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 >FEGFEF6GNF 
<EF>G=<>< F5??>6>= M=5D7<< E >><5<=<D>64==>= 6OD45>F>>= F5??>6>= < M?5>FD<G5E>>= M=5D7<<. 
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4) <5DO ?> 6O6>4G <7 M>E??G4F4F<<, >>=E5D64F<< < 45<>=F46G <75OF>G=OE 
<EF>G=<>>6 F5??>6>= M=5D7<<, 4 F4>65 <EF>G=<>>6 F5??>6>= M=5D7<<, 6OD45>F46L<E 
=>D<4F<6=O= ED>> E?G65O, 6 E?GG45 5E?< ?D>4?5=<5 ED>>4 E?G65O F5E=<G5E>< =56>7<>6=> 
<?< M>>=><<G5E>< =5F5?5E>>5D47=> 

�4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 >FEGFEF6GNF 
<75OF>G=O5 <EF>G=<>< F5??>6>= M=5D7<<.  

5) <5DO ?> ?5D5>5>DG4>64=<N >>F5?L=OE 6 <EF>G=<>< F5??>6>= M=5D7<<, 
DG=>F<>=<DGNM<5 6 D56<<5 >><5<=<D>64==>= 6OD45>F>< M?5>FD<G5E>>= < F5??>6>= 
M=5D7<< 

�5DO ?> ?5D5>5>DG4>64=<N >>F5?L=OE 6 <EF>G=<>< F5??>6>= M=5D7<<, 
DG=>F<>=<DGNM<5 6 D56<<5 >><5<=<D>64==>= 6OD45>F>< M?5>FD<G5E>>= < F5??>6>= M=5D7<<, 
=5 ?D54GE<>FD5=O. 

6) <5DO ?> ?5D56>4G >>F5?L=OE, D47<5M5==OE 6 EGM5EF6GNM<E < D4EL<DO5<OE 
7>=4E 45=EF6<O <EF>G=<>>6 F5??>6>= M=5D7<<, DG=>F<>=<DGNM<E 6 D56<<5 
>><5<=<D>64==>= 6OD45>F>< M?5>FD<G5E>>= < F5??>6>= M=5D7<<, 6 ?<>>6O= D56<< 
D45>FO, ?<5> ?> 6O6>4G <E <7 M>E??G4F4F<< 

�5DO ?> ?5D56>4G >>F5?L=OE, D47<5M5==OE 6 EGM5EF6GNM<E < D4EL<DO5<OE 7>=4E 
45=EF6<O <EF>G=<>>6 F5??>6>= M=5D7<<, DG=>F<>=<DGNM<E 6 D56<<5 >><5<=<D>64==>= 
6OD45>F>< M?5>FD<G5E>>= < F5??>6>= M=5D7<<, 6 ?<>>6O= D56<< D45>FO, ?<5> ?> 6O6>4G <E <7 
M>E??G4F4F<< =5 ?D54GE<>FD5=O, F4> >4> =4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 
E5?LE>>5 ?>E5?5=<5 >FEGFEF6GNF >>F5?L=O5 E >><5<=<D>64==>= 6OD45>F>>= F5??>6>= < 
M?5>FD<G5E>>= M=5D7<5=. 

7) F5<?5D4FGD=O= 7D4D<> >F?GE>4 F5??>6>= M=5D7<< 4?O >464>7> <EF>G=<>4 
F5??>6>= M=5D7<< <?< 7DG??O <EF>G=<>>6 F5??>6>= M=5D7<< 6 E<EF5<5 F5??>E=4565=<O, 
D45>F4NM5= =4 >5MGN F5??>6GN E5FL, < >F5=>G 74FD4F ?D< =5>5E>4<<>EF< 57> <7<5=5=<O 

&45?<F4 15. &5<?5D4FGD=O= 7D4D<> >F >>F5?L=>= ?. �L<=E>4O 

&5<?5D4FGD4 =4DG6=>7> 
6>74GE4, °% 

&5<?5D4FGD4 E5F56>= 6>4O 6 FDG5>?D>6>45, °% 
?>44NM5< >5D4F=>< 

10 37 32 
9 39 34 
8 41 35 
7 42 36 
6 44 37 
5 46 38 
4 48 39 
3 49 40 
2 51 41 
1 53 43 
0 55 45 
-1 57 46 
-2 58 47 
-3 60 48 
-4 62 49 
-5 64 50 
-6 65 51 
-7 67 52 
-8 68 53 
-9 70 54 

-10 71 55 
-11 73 56 
-12 74 57 
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&5<?5D4FGD4 =4DG6=>7> 
6>74GE4, °% 

&5<?5D4FGD4 E5F56>= 6>4O 6 FDG5>?D>6>45, °% 
?>44NM5< >5D4F=>< 

-13 76 58 
-14 78 59 
-15 79 60 
-16 81 61 
-17 82 62 
-18 84 63 
-19 85 64 
-20 87 65 
-21 88 66 
-22 90 67 
-23 91 68 
-24 93 69 
-25 94 69 
-26 95 70 
-27 95 70 
-28 95 70 
-29 95 70 

 

$<EG=>> 9. &5<?5D4FGD=O= 7D4D<> >F >>F5?L=>= ?. �L<=E>4O 

&45?<F4 16. &5<?5D4FGD=O= 7D4D<> >F >>F5?L=>= ?. �D4E=O= �4O> 

&=.6. °C &?D.°% &>5D.°% 
8 41 35 
7 43 37 
6 45 38 
5 47 39 
4 49 41 
3 51 42 
2 53 43 
1 54 44 
0 56 45 
-1 58 47 
-2 60 48 
-3 61 49 
-4 63 50 
-5 65 51 
-6 66 52 
-7 68 53 
-8 70 54 
-9 71 55 
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&5<?5D4FGD4 E5F56>= 6>4O 6 FDG5>?D>6>45, °% ?>44NM5<

&5<?5D4FGD4 E5F56>= 6>4O 6 FDG5>?D>6>45, °% >5D4F=><
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&=.6. °C &?D.°% &>5D.°% 
-10 73 56 
-11 74 57 
-12 76 58 
-13 78 59 
-14 79 60 
-15 81 61 
-16 83 62 
-17 84 63 
-18 86 64 
-19 87 65 
-20 89 66 
-21 90 67 
-22 92 68 
-23 94 69 
-24 95 70 

 

$<EG=>> 10. &5<?5D4FGD=O= 7D4D<> >F >>F5?L=>= ?. �D4E=O= �4O> 

&45?<F4 17. &5<?5D4FGD=O= 7D4D<> >F >>F5?L=>= 4. �5E5=5F 

&=.6. °C &?D.°% &>5D.°% 
8 41 35 
7 43 37 
6 45 38 
5 47 39 
4 49 41 
3 51 42 
2 53 43 
1 54 44 
0 56 45 
-1 58 47 
-2 60 48 
-3 61 49 
-4 63 50 
-5 65 51 
-6 66 52 
-7 68 53 
-8 70 54 
-9 71 55 

-10 73 56 
-11 74 57 
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&=.6. °C &?D.°% &>5D.°% 
-12 76 58 
-13 78 59 
-14 79 60 
-15 81 61 
-16 83 62 
-17 84 63 
-18 86 64 
-19 87 65 
-20 89 66 
-21 90 67 
-22 92 68 
-23 94 69 
-24 95 70 

 

$<EG=>> 11. &5<?5D4FGD=O= 7D4D<> >F >>F5?L=>= 4. �5E5=5F 

<) ?D54?>65=<O ?> ?5DE?5>F<6=>= GEF4=>6?5==>= F5??>6>= <>M=>EF< >464>7> 
<EF>G=<>4 F5??>6>= M=5D7<< E ?D54?>65=<O<< ?> ED>>G 66>44 6 M>E??G4F4F<N =>6OE 
<>M=>EF5= 

�5DE?5>F<6=4O GEF4=>6?5==4O F5??>64O <>M=>EFL ?>E?5 <>45D=<74F<< >>F5?L=>= ?. 
�L<=E>4O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 E>EF46<F 0,688 �>4?/G. 

>) ?D54?>65=<O ?> 66>4G =>6OE < D5>>=EFDG>F<< EGM5EF6GNM<E <EF>G=<>>6 
F5??>6>= M=5D7<< E <E?>?L7>64=<5< 6>7>5=>6?O5<OE <EF>G=<>>6 M=5D7<<, 4 F4>65 <5EF=OE 
6<4>6 F>??<64 

�D54?>65=<O ?> 66>4G =>6OE < D5>>=EFDG>F<< EGM5EF6GNM<E <EF>G=<>>6 F5??>6>= 
M=5D7<< E <E?>?L7>64=<5< 6>7>5=>6?O5<OE <EF>G=<>>6 M=5D7<<, 4 F4>65 <5EF=OE 6<4>6 F>??<64, 
>FEGFEF6GNF. 
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$����� 6. �$��������/ �� %&$��&��,%&�', 
$����%&$'�&�� � (���) ����$����&�� &�����/% %�&�� 

4) ?D54?>65=<O ?> EFD><F5?LEF6G, D5>>=EFDG>F<< < (<?<) <>45D=<74F<< F5??>6OE 
E5F5=, >55E?5G<64NM<E ?5D5D4E?D545?5=<5 F5??>6>= =47DG7>< <7 7>= E 45D<F<F>< 
D4E?>?4745<>= F5??>6>= <>M=>EF< <EF>G=<>>6 F5??>6>= M=5D7<< 6 7>=O E D575D6>< 
D4E?>?4745<>= F5??>6>= <>M=>EF< <EF>G=<>>6 F5??>6>= M=5D7<< (<E?>?L7>64=<5 
EGM5EF6GNM<E D575D6>6) 

�4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 >FEGFEF6GNF 
7>=O E EGM5EF65==O< <75OF>>< F5??>6>= <>M=>EF<. �>MF><G <5D>?D<OF<O ?> <E?>?L7>64=<N 
EGM5EF6GNM<E D575D6>6 4?O ?5D5D4E?D545?5=<O <>M=>EF5= =5 ?D54GE<4FD<64NFEO. 

5) ?D54?>65=<O ?> EFD><F5?LEF6G, D5>>=EFDG>F<< < (<?<) <>45D=<74F<< F5??>6OE 
E5F5= 4?O >55E?5G5=<O ?5DE?5>F<6=OE ?D<D>EF>6 F5??>6>= =47DG7>< 6 >E64<645<OE 
D4=>=4E ?>E5?5=<O, 7>D>4E>>7> >>DG74, 7>D>44 D545D4?L=>7> 7=4G5=<O ?>4 6<?<M=GN, 
>><??5>E=GN <?< ?D><76>4EF65==GN 74EFD>=>G 

�D54?>65=<O ?> EFD><F5?LEF6G F5??>6OE E5F5= 4?O >55E?5G5=<O ?5DE?5>F<6=OE 
?D<D>EF>6 F5??>6>= =47DG7>< ?>4 6<?<M=GN, >><??5>E=GN <?< ?D><76>4EF65==GN 74EFD>=>G 6> 
6=>6L >E64<645<OE D4=>=4E ?>E5?5=<O, =4 <><5=F 4>FG4?<74F<< EE5<O F5??>E=4565=<O 
<G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5, >FEGFEF6GNF. 

6) ?D54?>65=<O ?> EFD><F5?LEF6G, D5>>=EFDG>F<< < (<?<) <>45D=<74F<< F5??>6OE 
E5F5= 6 F5?OE >55E?5G5=<O GE?>6<=, ?D< =4?<G<< >>F>DOE EGM5EF6G5F 6>7<>6=>EFL 
?>EF46>> F5??>6>= M=5D7<< ?>FD55<F5?O< >F D47?<G=OE <EF>G=<>>6 F5??>6>= M=5D7<< ?D< 
E>ED4=5=<< =4456=>EF< F5??>E=4565=<O 

%FD><F5?LEF6> F5??>6OE E5F5=, >55E?5G<64NM<E GE?>6<O, ?D< =4?<G<< >>F>DOE 
EGM5EF6G5F 6>7<>6=>EFL ?>EF46>> F5??>6>= M=5D7<< ?>FD55<F5?O< >F D47?<G=OE <EF>G=<>>6 
F5??>6>= M=5D7<< ?D< E>ED4=5=<< =4456=>EF< F5??>E=4565=<O, =5 FD55G5FEO. -F> E6O74=> E F5<, 
GF> EGM5EF6GNM4O >>=D<7GD4F<O F5??>6OE E5F5= 4>EF4F>G=> =44U6=4. 

7) ?D54?>65=<O ?> EFD><F5?LEF6G, D5>>=EFDG>F<< < (<?<) <>45D=<74F<< F5??>6OE 
E5F5= 4?O ?>6OL5=<O MDD5>F<6=>EF< DG=>F<>=<D>64=<O E<EF5<O F5??>E=4565=<O, 6 F>< 
G<E?5 74 EG5F ?5D56>44 >>F5?L=OE 6 ?<>>6O= D56<< D45>FO <?< ?<>6<44F<< >>F5?L=OE ?> 
>E=>64=<O<, G>474==O< 6 ?>4?G=>F5 "4" ?G=>F4 11 =4EF>OM57> 4>>G<5=F4 

'G4EF>< F5??>6OE E5F5=, >FE?G6<6L<E E6>= ED>> E?G65O, 4>?6=O 5OFL 
D5>>=EFDG<D>64=O < <>45D=<7<D>64=O 4?O ?>6OL5=<O MDD5>F<6=>EF< DG=>F<>=<D>64=<O 
E<EF5<O F5??>E=4565=<O.  

�5D56>4 >>F5?L=OE 6 ?<>>6O= D56<< D45>FO =5 ??4=<DG5FEO. 

4) ?D54?>65=<O ?> EFD><F5?LEF6G, D5>>=EFDG>F<< < (<?<) <>45D=<74F<< F5??>6OE 
E5F5= 4?O >55E?5G5=<O =>D<4F<6=>= =4456=>EF< F5??>E=4565=<O ?>FD55<F5?5= 

�5D5G5=L F5??>6OE E5F5=, ?>4?564M<E 74<5=5 6 E6O7< E <EG5D?4=<5< ED>>4 
M>E??G4F4F<>==>7> D5EGDE4, ?5D5G<E?5=O 6 F45?<F5 =<65. 
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&45?<F4 18. &5??>6O5 E5F<, ?>4?564M<5 74<5=5 6 E6O7< E <EG5D?4=<5< ED>>4 
M>E??G4F4F<>==>7> D5EGDE4 

7 ?/?  �4D5E >5N5>F4 
�>4 66>44 

F/E 
�4<<5=>64=<5 

'E?>6=O= 4<4<5FD 
FDG5>?D>6>44, << 

�D>FO65==>EFL 6 
2-FD. <EG<E?5=<<, 

< 
�>4 74<5=O 

?. �D4E=O= �4O> 

1 1 1976 >F>??5=<5 50 18 2023-2034 

2 2 1981 >F>??5=<5 50 7 2023-2034 

3 3 1982 >F>??5=<5 50 114 2023-2034 

4 4 1983 >F>??5=<5 50 50 2023-2034 

5 5 1980 >F>??5=<5 65 64 2023-2034 

6 6 1980 >F>??5=<5 100 100 2023-2034 

7 7 1981 >F>??5=<5 100 309 2023-2034 

8 8 1985 >F>??5=<5 100 110 2023-2034 

9 9 1990 >F>??5=<5 100 133 2023-2034 

10 10 1976 >F>??5=<5 150 127 2023-2034 

11 11 1981 >F>??5=<5 150 114 2023-2034 

4. �5E5=5F 

1 1 1978 >F>??5=<5 100 119 2023-2034 

2 2 1994 >F>??5=<5 125 64,8 2023-2034 

3 3 1994 >F>??5=<5 150 64,8 2023-2034 
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$����� 7. �$��������/ �� ��$����' �&�$/&/% %�%&�� 
&����%�������/ (��$/'��� ����%�������/) � ���$/&/� 
%�%&��/ ��$/'��� ����%�������/ 

�4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 
F5=FD4?<7>64==4O E<EF5<4 ��% >FEGFEF6G5F. 
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$����� 8. ��$%���&���/� &������/� �����%/ 

4) ?5DE?5>F<6=O5 F>??<6=O5 54?4=EO 4?O >464>7> <EF>G=<>4 F5??>6>= M=5D7<< ?> 
6<44< >E=>6=>7>, D575D6=>7> < 464D<==>7> F>??<64 =4 >464>< MF4?5 

$4EG5FO ?5DE?5>F<6=OE <4>E<<4?L=OE 7>4>6OE D4EE>4>6 F>??<64 4?O 7<<=57>, ?5F=57> < 
?5D5E>4=>7> ?5D<>4>6 ?> M?5<5=F4< F5DD<F>D<4?L=>7> 45?5=<O 6O?>?=5=O =4 >E=>64=<< 44==OE 
> ED54=5<5EOG=>= F5<?5D4FGD5 =4DG6=>7> 6>74GE4, EG<<4D=>= ?D<E>54<=5==>= F5??>6>= 
=47DG7>5 < G45?L=OE D4EE>4>6 GE?>6=>7> F>??<64. 

$57G?LF4FO D4EGUF>6 ?5DE?5>F<6=>7> 7>4>6>7> D4EE>44 F>??<64 > D4EG5F=><G ED>>G 
?D54EF46?5=O 6 F45?<F5 =<65.  

&45?<F4 19. �5DE?5>F<6=O5 7>4>6O5 D4EE>4O F>??<64 

�EF>G=<> F5??>6>= M=5D7<< �>>474F5?L 2022 2023 2024 2025 2026 2027 2028 

?. �L<=E>4O 
�47DG7>4, �>4?/G 0,458 0,458 0,458 0,458 0,458 0,458 0,458 

$4EE>4 F>??<64, F.G.F. 0,293 0,293 0,293 0,180 0,180 0,180 0,180 

?. �D4E=O= �4O> 
�47DG7>4, �>4?/G 1,677 1,677 1,677 1,677 1,677 1,677 1,677 

$4EE>4 F>??<64, F.G.F. 0,138 0,138 0,138 0,138 0,138 0,138 0,138 

4. �5E5=5F 
�47DG7>4, �>4?/G 1,232 1,232 1,232 1,232 1,232 1,232 1,232 

$4EE>4 F>??<64, F.G.F. 0,154 0,154 0,154 0,154 0,154 0,154 0,154 

5) ?>FD55?O5<O5 <EF>G=<>>< F5??>6>= M=5D7<< 6<4O F>??<64, 6>?NG4O <5EF=O5 
6<4O F>??<64, 4 F4>65 <E?>?L7G5<O5 6>7>5=>6?O5<O5 <EF>G=<>< M=5D7<< 

�E=>6=O< 6<4>< F>??<64 <EF>G=<>>6 F5=FD4?<7>64==>7> F5??>E=4565=<O 
<G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 O6?O5FEO G7>?L >4<5==O= < 
?D<D>4=O= 747. 

&45?<F4 20. �<4 < >>?<G5EF6> >E=>6=>7> F>??<64, <E?>?L7G5<>7> 
F5=FD4?<7>64==O<< <EF>G=<>4<< F5??>6>= M=5D7<< <G=<F<?4?L=>7> >5D47>64=<O 
�L<=E>>5 E5?LE>>5 ?>E5?5=<5 
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1 ?. �L<=E>4O G7>?L >4<5==O= ��%& 25543-2013 0,293 285,62 371,900 
2 ?. �D4E=O= �4O> ?D<D>4=O= 747 ��%& 5542-2014 0,138 532,846 461,74 
3 4. �5E5=5F ?D<D>4=O= 747 ��%& 5542-2014 0,154 435,214 377,14 

 
$575D6=>5/464D<==>5 F>??<6> ?D<EGFEF6G5F F>?L>> =4 <EF>G=<>4E F5??>6>= M=5D7<< 6 ?. 

�D4E=O= �4O> < 4. �5E5=5F. 
� >4G5EF65 D575D6=>7>/464D<==>7> F>??<64 <E?>?L7G5FEO 4<75?L=>5 F>??<6>. 

6) 6<4O F>??<64 (6 E?GG45, 5E?< F>??<6>< O6?O5FEO G7>?L 4 6<4 <E>>?45<>7> G7?O 6 
E>>F65FEF6<< E �567>EG44DEF65==O< EF4=44DF>< ��%& 25543-2013 «'7?< 5GDO5, 
>4<5==O5 < 4=FD4F<FO. �?4EE<D<>4F<O ?> 75=5F<G5E><< < F5E=>?>7<G5E><< 
?4D4<5FD4<»), <E 4>?N < 7=4G5=<5 =<7L5= F5??>FO E7>D4=<O F>??<64, <E?>?L7G5<O5 4?O 
?D><76>4EF64 F5??>6>= M=5D7<< ?> >464>= E<EF5<5 F5??>E=4565=<O 

�>EF46M<>>< >4<5==>7> G7?O 4?O F5=FD4?<7>64==>7> <EF>G=<>4 F5??>6>= M=5D7<< =4 
F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5, ? �L<=E>4O, O6?O5FEO 
��� «$�&». 
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%4D4>F5D<EF<>< ?>EF46?O5<>7> >4<5==>7> G7?O ?D54EF46?5=O =4 D<EG=>5 =<65. 

 

$<EG=>> 12. %4D4>F5D<EF<>< ?>EF46?O5<>7> >4<5==>7> G7?O 

�>EF46M<>>< ?D<D>4=>7> 7474 4?O >>F5?L=OE ��� «�5F5D5GD7F5??>M=5D7>» O6?O5FEO 
��� «�47?D>< <56D57<>=747 %4=>F-�5F5D5GD7». 

�>EF46M<>>< 4<75?L=>7> F>??<64 4?O >>F5?L=OE ��� «�5F5D5GD7F5??>M=5D7>» O6?O5FEO 
�� «�� «��%». 

7) ?D5>5?444NM<= 6 ?>E5?5=<<, 7>D>4E>>< >>DG75 6<4 F>??<64, >?D545?O5<O= ?> 
E>6>>G?=>EF< 6E5E E<EF5< F5??>E=4565=<O, =4E>4OM<EEO 6 E>>F65FEF6GNM5< ?>E5?5=<<, 
7>D>45 

�D5>5?444NM<< >E=>6=O< 6<4>< F>??<64 F5=FD4?<7>64==OE <EF>G=<>>6 F5??>6>= 
M=5D7<< 6 <G=<F<?4?L=>< >5D47>64=<< �L<=E>>5 E5?LE>>5 ?>E5?5=<5, >?D545?O5<O< ?> 
E>6>>G?=>EF< 6E5E E<EF5< F5??>E=4565=<O, =4E>4OM<EEO 6 E>>F65FEF6GNM5< <G=<F<?4?L=>< 
>5D47>64=<<, O6?O5FEO ?D<D>4=O= 747. 

4) ?D<>D<F5F=>5 =4?D46?5=<5 D476<F<O F>??<6=>7> 54?4=E4 ?>E5?5=<O, 7>D>4E>>7> 
>>DG74 

�D<>D<F5F=O< =4?D46?5=<5< D476<F<O F>??<6=>7> 54?4=E4 <G=<F<?4?L=>7> >5D47>64=<O 
�L<=E>>5 E5?LE>>5 ?>E5?5=<5 O6?O5FEO ?>?=4O 747<D<>4F<O F5DD<F>D<< ?>E5?5=<O E 
<E?>?L7>64=<5< ?D<D>4=>7> 7474 >4> >E=>6=>7> F>??<64 =4 EGM5EF6GNM<E <=4<6<4G4?L=OE, 
?5DE?5>F<6=OE F5=FD4?<7>64==OE < ?5DE?5>F<6=OE <=4<6<4G4?L=OE <EF>G=<>4E F5??>6>= 
M=5D7<<. 

�47<D<>4F<O ?>76>?<F >5?57G<FL ?D>F5EE >F>??5=<O 744=<=, ?>76>?<F G<5=LL<FL D4EE>4O 
=4 F>??<6> < 57> 4>EF46>G, >>465F 5?47>?D<OF=>5 6>745=EF6<5 =4 >>DG64NMGN ED54G 74 EG5F 
E=<65=<O 6O5D>E>6 6D54=OE 65M5EF6.
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$����� 9. ����%&�&�� � %&$��&��,%&��, 
$����%&$'�&�., &�%��'�%��� ��$����$'����� � (���) 
����$����&�. 

4) ?D54?>65=<O ?> 65?<G<=5 =5>5E>4<<OE <=65EF<F<= 6 EFD><F5?LEF6>, 
D5>>=EFDG>F<N, F5E=<G5E>>5 ?5D56>>DG65=<5 < (<?<) <>45D=<74F<N <EF>G=<>>6 F5??>6>= 
M=5D7<< =4 44==>< MF4?5 

�>45D=<74F<O >>F5?L=>= ?. �L<=E>4O 3 ?5D56>4 E G7>?L=>7> =4 747>6>5 F>??<6>. 
 

� = 12880,15 FOE. DG5?5= 

5) ?D54?>65=<O ?> 65?<G<=5 =5>5E>4<<OE <=65EF<F<= 6 EFD><F5?LEF6>, 
D5>>=EFDG>F<N, F5E=<G5E>>5 ?5D56>>DG65=<5 < (<?<) <>45D=<74F<N F5??>6OE E5F5=, 
=4E>E=OE EF4=F<= < F5??>6OE ?G=>F>6 =4 >464>< MF4?5 

$4EG5F EF><<>EF< 74<5=O < EFD><F5?LEF64 F5??>6OE E5F5= 5O? 6O?>?=5= 6 E>>F65FEF6<< E 
«'>DG?=5==O5 =>D<4F<6O F5=O EFD><F5?LEF64. �&% 81-02-13-2023. %5>D=<> 713. �4DG6=O5 
F5??>6O5 E5F<». 

�5D5G5=L F5??>6OE E5F5=, ?>4?564M<E 74<5=5 6 E6O7< E <EG5D?4=<5< ED>>4 
M>E??G4F4F<>==>7> D5EGDE4, ?5D5G<E?5=O 6 F45?<F5 =<65. 

&45?<F4 21. &5??>6O5 E5F<, ?>4?564M<5 74<5=5 6 E6O7< E <EG5D?4=<5< ED>>4 
M>E??G4F4F<>==>7> D5EGDE4 

7 ?/?  
�4D5E 

>5N5>F4 
�>4 66>44 

F/E 
�4<<5=>- 

64=<5 
'E?>6=O= 4<4<5FD 
FDG5>?D>6>44,  << 

�D>FO65=-=>EFL 
6 2-FD. 

<EG<E?5=<<, < 
�>4 74<5=O 

%F><<>EFL, 
FOE. DG5?5= 

?. �D4E=O= �4O>   
1 1 1976 >F>??5=<5 50 18 2023-2024 415,00 
2 2 1981 >F>??5=<5 50 7 2023-2024 161,39 
3 3 1982 >F>??5=<5 50 114 2023-2024 2628,36 
4 4 1983 >F>??5=<5 50 50 2023-2024 1152,79 
5 5 1980 >F>??5=<5 65 64 2023-2024 1475,57 
6 6 1980 >F>??5=<5 100 100 2023-2024 2723,08 
7 7 1981 >F>??5=<5 100 309 2023-2024 8414,33 
8 8 1985 >F>??5=<5 100 110 2023-2024 2995,39 
9 9 1990 >F>??5=<5 100 133 2023-2024 3621,70 

10 10 1976 >F>??5=<5 150 127 2023-2024 4131,70 
11 11 1981 >F>??5=<5 150 114 2023-2024 3708,77 

4. �5E5=5F   
1 1 1978 >F>??5=<5 100 119 2023-2034 3240,47 
2 2 1994 >F>??5=<5 125 64,8 2023-2034 1863,02 
3 3 1994 >F>??5=<5 150 64,8 2023-2034 2108,14 
 �F>7>:      38639,73 

 
'EF4=>6>4 ���' (>5M54><>6O5 ?D<5>DO GG5F4) 

� E6O7< E D47D>7=5==O< E4D4>F5D>< 74EFD>=>< 6 <G=<F<?4?L=>< >5D47>64=<< �L<=E>>5 
E5?LE>>5 ?>E5?5=<5 5O? ?D<=OF ED54=<= G>DG?=5==O= D4EGUF=O= ?>>474F5?L ��& GEF4=>6>< 
���' 6 ���. 

&45?<F4 22. '>DG?=5==O= D4EGUF ��& GEF4=>6>< ���' 6 ��� 

7 ?/? &<? >5N5>F4 �F>7>, DG5. 
1 %FD><F5?L=>-<>=F46=O5 D45>FO 320 655,00 
2 �=45>E-45D?OF>D 4?O %�$ =4 45>45DL 2020 7. �=1,068 (&<%� 75/20197., F45?. 3.2.1) 21 805,00 
  �F>7> 342 460,00 
3 $575D6 ED54EF6 =4 =5?D546<45==O5 D45>FO < 74FD4FO 2% 6 849,00 
  �F>7> %�$ 6 F5=4E 2020 7. 349 309,00 
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7 ?/? &<? >5N5>F4 �F>7>, DG5. 
4 �D>5>F=O5 D45>FO 6 F5=4E 20197. 47 475,00 
5 ->E?5DF<74 ?D>5>F=>-E<5F=>= 4>>G<5=F4F<< 6 F5=4E 2019 7. 8100 
  �F>7> EF><<>EFL ?D>5>F<D>64=<O < M>E?5DF<7O 55 575,00 
6 �=45>E-45D?OF>D > ?D>5>F=O< D45>F4< < M>E?5DF<75 �%� =4 2020 7. (�<=M>>=><D476<F<O $$ �=4,4%) 2 445,00 
  �F>7> EF><<>EFL ?D>5>F<D>64=<O < M>E?5DF<7O 6 F5=4E 2020 7. 55 575,00 
  �F>7> EF><<>EFL %�$, ?D>5>F<D>64=<O < M>E?5DF<7O �%� 6 F5=4E 2020 7. 404 884,00 
7 ��% 20% 80 976,80 
  �%��� 485 860,80 

 
�D54?>?>6<F5?L=>, =4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 

?>E5?5=<5 G ?>FD55<F5?5= F5??>6>= M=5D7<< >FEGFEF6GNF G7?O GG5F4 F5??>6>= M=5D7<<.  
�D54?>?>6<F5?L=>, FD55G5FEO >E=4EF<FL G7?4<< GG5F4 F5??>6>= M=5D7<< 33 >5N5>F4. 

�D<5=F<D>6>G=4O EF><<>EFL GEF4=>6>< ���' E>EF46<F 16033,41 FOE. DG5?5=. 

6) ?D54?>65=<O ?> 65?<G<=5 <=65EF<F<= 6 EFD><F5?LEF6>, D5>>=EFDG>F<N, 
F5E=<G5E>>5 ?5D56>>DG65=<5 < (<?<) <>45D=<74F<N 6 E6O7< E <7<5=5=<O<< F5<?5D4FGD=>7> 
7D4D<>4 < 7<4D46?<G5E>>7> D56<<4 D45>FO E<EF5<O F5??>E=4565=<O =4 >464>< MF4?5 

�=65EF<F<<, >55E?5G<64NM<5 D<=4=E>6O5 ?>FD55=>EF< 4?O >EGM5EF6?5=<O 
EFD><F5?LEF64, D5>>=EFDG>F<<, F5E=<G5E>>7> ?5D56>>DG65=<O < (<?<) <>45D=<74F<< <EF>G=<>>6 
F5??>6>= M=5D7<< < F5??>6OE E5F5= ??4=<DG5FEO ?D<6?5GL <7 D47?<G=OE GD>6=5= 5N465F4, 4 
F4>65 >F G4EF=OE <=65EF>D>6. 

7) ?D54?>65=<O ?> 65?<G<=5 =5>5E>4<<OE <=65EF<F<= 4?O ?5D56>44 >F>DOF>= 
E<EF5<O F5??>E=4565=<O (7>DOG57> 6>4>E=4565=<O) 6 74>DOFGN E<EF5<G 7>DOG57> 
6>4>E=4565=<O =4 >464>< MF4?5 

�5D>?D<OF<O =5 FD55GNFEO. 

4) >F5=>4 MDD5>F<6=>EF< <=65EF<F<= ?> >F45?L=O< ?D54?>65=<O< 

->>=><<G5E><= MDD5>F <5D>?D<OF<= ?> D5>>=EFDG>F<< >>F5?L=OE < F5??>6OE E5F5= 
4>EF<745FEO 74 EG5F E>>D4M5=<O 464D<= - <745D65> =4 <E ?<>6<44F<N, E=<65=<O ?>F5DL 
F5??>=>E<F5?O < ?>FD55?5=<O M=5D7<< >>F5?L=OE, ?>F5DL F5??4 =4 F5??>FD4EE4E 74 EG5F 74<5=O 
<7>?OF<< FDG5>?D>6>4>6. 

5) 65?<G<=4 D4>F<G5E>< >EGM5EF6?U==OE <=65EF<F<= 6 EFD><F5?LEF6>, 
D5>>=EFDG>F<N, F5E=<G5E>>5 ?5D56>>DG65=<5 < (<?<) <>45D=<74F<N >5N5>F>6 
F5??>E=4565=<O 74 547>6O= ?5D<>4 < 547>6O= ?5D<>4 4>FG4?<74F<< 

�4==O5 > 65?<G<=4E D4>F<G5E>< >EGM5EF6?5==OE <=65EF<F<= 6 EFD><F5?LEF6>, 
D5>>=EFDG>F<N, F5E=<G5E>>5 ?5D56>>DG65=<5 < (<?<) <>45D=<74F<N >5N5>F>6 F5??>E=4565=<O 
74 547>6O= ?5D<>4 < 547>6O= ?5D<>4 4>FG4?<74F<< >FEGFEF6GNF. 
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$����� 10. $�,���� � �$�%������ %&�&'%� ������ 
&����%�����.-�� �$������&�� (�$������&�/�)  

4) D5L5=<5 > ?D<E6>5=<< EF4FGE4 54<=>= F5??>E=4564NM5= >D74=<74F<< 
(>D74=<74F<O<) 

&5=FD4?<7>64==>5 F5??>E=4565=<5 <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 
?>E5?5=<5 >EGM5EF6?O5FEO 46G<O F5??>E=4564NM<<< >D74=<74F<O<<: ��� «&� %565D=4O» < 
��� «�5F5D5GD7F5??>M=5D7>». 

5) D55EFD 7>= 45OF5?L=>EF< 54<=>= F5??>E=4564NM5= >D74=<74F<< (>D74=<74F<=) 

&5=FD4?<7>64==>5 F5??>E=4565=<5 <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 
?>E5?5=<5 >EGM5EF6?O5FEO 46G<O F5??>E=4564NM<<< >D74=<74F<O<<: ��� «&� %565D=4O» < 
��� «�5F5D5GD7F5??>M=5D7>». 

ý ��� «&� %565D=4O» - ?. �L<=E>4O; 
ý ��� «�5F5D5GD7F5??>M=5D7>» - ?. �D4E=O= �4O>, 4. �5E5=5F. 

6) >E=>64=<5, 6 F>< G<E?5 >D<F5D<<, 6 E>>F65FEF6<< E >>F>DO<< F5??>E=4564NM5= 
>D74=<74F<< ?D<E6>5= EF4FGE 54<=>= F5??>E=4564NM5= >D74=<74F<< 

� E>>F65FEF6<< E> %F4FL5= 2 ?. 28 $545D4?L=>7> 74>>=4 >F 27 <N?O 2010 7>44 7190-$� 
«� F5??>E=4565=<<»:  

�4<=4O F5??>E=4564NM4O >D74=<74F<O 6 E<EF5<5 F5??>E=4565=<O (44?55 - 54<=4O 
F5??>E=4564NM4O >D74=<74F<O) - F5??>E=4564NM4O >D74=<74F<O, >>F>D4O >?D545?O5FEO 6 EE5<5 
F5??>E=4565=<O D545D4?L=O< >D74=>< <E?>?=<F5?L=>= 6?4EF<, G?>?=><>G5==O< 
�D46<F5?LEF6>< $>EE<=E>>= $545D4F<< =4 D54?<74F<N 7>EG44DEF65==>= ?>?<F<>< 6 ED5D5 
F5??>E=4565=<O, <?< >D74=>< <5EF=>7> E4<>G?D46?5=<O =4 >E=>64=<< >D<F5D<56 < 6 ?>DO4>5, 
>>F>DO5 GEF4=>6?5=O ?D46<?4<< >D74=<74F<< F5??>E=4565=<O, GF65D645==O<< �D46<F5?LEF6>< 
$>EE<=E>>= $545D4F<<.  

� E>>F65FEF6<< E ?G=>F>< 22 «&D55>64=<= > ?>DO4>G D47D45>F>< < GF65D645=<O EE5< 
F5??>E=4565=<O», GF65D645==OE �>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 
22.02.2012 7154:  

�?D545?5=<5 6 EE5<5 F5??>E=4565=<O 54<=>= F5??>E=4564NM5= >D74=<74F<< 
(>D74=<74F<=) >EGM5EF6?O5FEO 6 E>>F65FEF6<< E >D<F5D<O<< < ?>DO4>>< >?D545?5=<O 54<=>= 
F5??>E=4564NM5= >D74=<74F<< GEF4=>6?5==O< �D46<F5?LEF6>< $>EE<=E>>= $545D4F<<.  

�D<F5D<< < ?>DO4>> >?D545?5=<O 54<=>= F5??>E=4564NM5= >D74=<74F<< GEF4=>6?5=O 
�>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 08.08.2012 7808 «�5 >D74=<74F<< 
F5??>E=4565=<O 6 $>EE<=E>>= $545D4F<< < > 6=5E5=<< <7<5=5=<= 6 =5>>F>DO5 4>FO 
�D46<F5?LEF64 $>EE<=E>>= $545D4F<<».  

7) <=D>D<4F<O > ?>44==OE F5??>E=4564NM<<< >D74=<74F<O<< 74O6>4E =4 
?D<E6>5=<5 EF4FGE4 54<=>= F5??>E=4564NM5= >D74=<74F<< 

�4 <><5=F 4>FG4?<74F<< EE5<O F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 
E5?LE>>5 ?>E5?5=<5, 44==O5 > 74O6>4E F5??>E=4564NM<E >D74=<74F<=, ?>44==OE 6 D4<>4E 
D47D45>F>< ?D>5>F4 EE5<O F5??>E=4565=<O =4 ?D<E6>5=<5 EF4FGE4 54<=>= F5??>E=4564NM5= 
>D74=<74F<<, >FEGFEF6GNF. 
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4) D55EFD E<EF5< F5??>E=4565=<O, E>45D64M<= ?5D5G5=L F5??>E=4564NM<E 
>D74=<74F<=, 45=EF6GNM<E 6 >464>= E<EF5<5 F5??>E=4565=<O, D4E?>?>65==OE 6 7D4=<F4E 
?>E5?5=<O, 7>D>4E>>7> >>DG74, 7>D>44 D545D4?L=>7> 7=4G5=<O 

&5=FD4?<7>64==>5 F5??>E=4565=<5 <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 
?>E5?5=<5 >EGM5EF6?O5FEO 46G<O F5??>E=4564NM<<< >D74=<74F<O<<: ��� «&� %565D=4O» < 
��� «�5F5D5GD7F5??>M=5D7>». 

->E??G4F<DGNM4O >D74=<74F<O ��� «&� %565D=4O» =4E>4<FEO ?> 44D5EG: 191015, 7. 
%4=>F-�5F5D5GD7, G?. &65DE>4O, 4. 6, �<F. �, ?><. 4�. 

->E??G4F<DGNM4O >D74=<74F<O ��� «�5F5D5GD7F5??>M=5D7>» =4E>4<FEO ?> 44D5EG: 
196006, 7>D>4 %4=>F-�5F5D5GD7, �<7>6E><= ?D->F, 4. 266 EFD. 1, >D<E 11.1-=.199. 
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$����� 12. $�,���/ �� ��%%��/��/� &�����/� %�&/� 

�4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 55EE>7O==OE 
F5??>6OE E5F5= =5 6OO6?5=>. 
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$����� 13. %��%$�����&�/ %%��/ &����%�������/ %� 
%%���� ����%�������/ � ����$���&�� %'�.��&� 
$�%%��%��� $���$�&�� � (���) ��%�����/, %%���� � 
�$��$����� $����&�/ -���&$�-��$��&���, � &���� %� 
%%���� ����%�������/ � �����&������/ ��%�����/, 
��$��%���� ��$'��, ��$��� $���$��,���� ���'���/ 

4) >?<E4=<5 D5L5=<= (=4 >E=>65 GF65D645==>= D57<>=4?L=>= (<56D57<>=4?L=>=) 
?D>7D4<<O 747<D<>4F<< 6<?<M=>->><<G=4?L=>7> E>7O=EF64, ?D><OL?5==OE < <=OE 
>D74=<74F<=) > D476<F<< E>>F65FEF6GNM5= E<EF5<O 747>E=4565=<O 6 G4EF< >55E?5G5=<O 
F>??<6>< <EF>G=<>>6 F5??>6>= M=5D7<< 

�D<>D<F5F=O< =4?D46?5=<5< D476<F<O F>??<6=>7> 54?4=E4 <G=<F<?4?L=>7> >5D47>64=<O 
�L<=E>>5 E5?LE>>5 ?>E5?5=<5 O6?O5FEO ?>?=4O 747<D<>4F<O F5DD<F>D<< ?>E5?5=<O E 
<E?>?L7>64=<5< ?D<D>4=>7> 7474 >4> >E=>6=>7> F>??<64 =4 EGM5EF6GNM<E <=4<6<4G4?L=OE, 
?5DE?5>F<6=OE F5=FD4?<7>64==OE < ?5DE?5>F<6=OE <=4<6<4G4?L=OE <EF>G=<>4E F5??>6>= 
M=5D7<<. 

�47<D<>4F<O ?>76>?<F >5?57G<FL ?D>F5EE >F>??5=<O 744=<=, ?>76>?<F G<5=LL<FL 
D4EE>4O =4 F>??<6> < 57> 4>EF46>G, >>465F 5?47>?D<OF=>5 6>745=EF6<5 =4 >>DG64NMGN ED54G 74 
EG5F E=<65=<O 6O5D>E>6 6D54=OE 65M5EF6. 

5) >?<E4=<5 ?D>5?5< >D74=<74F<< 747>E=4565=<O <EF>G=<>>6 F5??>6>= M=5D7<< 

�4 <><5=F 4>FG4?<74F<< EE5<O F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 
E5?LE>>5 ?>E5?5=<5 ?D>5?5<O >D74=<74F<< 747>E=4565=<O <EF>G=<>>6 F5??>6>= M=5D7<< 
>FEGFEF6GNF. 

6) ?D54?>65=<O ?> >>DD5>F<D>6>5 GF65D645==>= (D47D45>F>5) D57<>=4?L=>= 
(<56D57<>=4?L=>=) ?D>7D4<<O 747<D<>4F<< 6<?<M=>->><<G=4?L=>7> E>7O=EF64, 
?D><OL?5==OE < <=OE >D74=<74F<= 4?O >55E?5G5=<O E>7?4E>64==>EF< F4>>= ?D>7D4<<O 
E G>474==O<< 6 EE5<5 F5??>E=4565=<O D5L5=<O<< > D476<F<< <EF>G=<>>6 F5??>6>= 
M=5D7<< < E<EF5< F5??>E=4565=<O 

�>DD5>F<D>6>4 GF65D64U==>= D57<>=4?L=>= ?D>7D4<<O 747<D<>4F<< 6<?<M=>-
>><<G=4?L=>7> E>7O=EF64, ?D><OL?5==OE < <=OE >D74=<74F<= 4?O >55E?5G5=<O 
E>7?4E>64==>EF< F4>>= ?D>7D4<<O E G>474==O<< 6 EE5<5 F5??>E=4565=<O D5L5=<O<< > D476<F<< 
<EF>G=<>>6 F5??>6>= M=5D7<<, =5 FD55G5FEO. 

7) >?<E4=<5 D5L5=<= (6OD454FO645<OE E GGUF>< ?>?>65=<= GF65D645==>= EE5<O < 
?D>7D4<<O D476<F<O �4<=>= M=5D75F<G5E>>= E<EF5<O $>EE<<) > EFD><F5?LEF65, 
D5>>=EFDG>F<<, F5E=<G5E>>< ?5D56>>DG65=<< < (<?<) <>45D=<74F<<, 6O6>45 <7 
M>E??G4F4F<< <EF>G=<>>6 F5??>6>= M=5D7<< < 75=5D<DGNM<E >5N5>F>6, 6>?NG4O 6E>4OM55 
6 <E E>EF46 >5>DG4>64=<5, DG=>F<>=<DGNM<E 6 D56<<5 >><5<=<D>64==>= 6OD45>F>< 
M?5>FD<G5E>>= < F5??>6>= M=5D7<<, 6 G4EF< ?5DE?5>F<6=OE 54?4=E>6 F5??>6>= <>M=>EF< 6 
EE5<4E F5??>E=4565=<O 

�D54?>65=<O ?> EFD><F5?LEF6G 75=5D<DGNM<E >5N5>F>6, DG=>F<>=<DGNM<E 6 D56<<5 
>><5<=<D>64==>= 6OD45>F>< M?5>FD<G5E>>= < F5??>6>= M=5D7<<, >FEGFEF6GNF. 



%E5<4 F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 �G6E>>7> <G=<F<?4?L=>7> 
D4=>=4 �5=<=7D44E>>= >5?4EF< 4> 2028 7>44 
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4) ?D54?>65=<O ?> EFD><F5?LEF6G 75=5D<DGNM<E >5N5>F>6, DG=>F<>=<DGNM<E 6 
D56<<5 >><5<=<D>64==>= 6OD45>F>< M?5>FD<G5E>>= < F5??>6>= M=5D7<<, G>474==OE 6 
EE5<5 F5??>E=4565=<O, 4?O <E GGUF4 ?D< D47D45>F>5 EE5<O < ?D>7D4<<O ?5DE?5>F<6=>7> 
D476<F<O M?5>FD>M=5D75F<>< EG5N5>F4 $>EE<=E>>= $545D4F<<, EE5<O < ?D>7D4<<O 
D476<F<O �4<=>= M=5D75F<G5E>>= E<EF5<O $>EE<<, E>45D64M<5 6 F>< G<E?5 >?<E4=<5 
GG4EF<O G>474==OE >5N5>F>6 6 ?5DE?5>F<6=OE 54?4=E4E F5??>6>= <>M=>EF< < M=5D7<< 

�D54?>65=<O ?> EFD><F5?LEF6G 75=5D<DGNM<E >5N5>F>6, DG=>F<>=<DGNM<E 6 D56<<5 
>><5<=<D>64==>= 6OD45>F>< M?5>FD<G5E>>= < F5??>6>= M=5D7<<, >FEGFEF6GNF. 

5) >?<E4=<5 D5L5=<= (6OD454FO645<OE E GGUF>< ?>?>65=<= GF65D645==>= EE5<O 
6>4>E=4565=<O ?>E5?5=<O, 7>D>4E>>7> >>DG74, 7>D>44 D545D4?L=>7> 7=4G5=<O, 
GF65D645==>= 54<=>= EE5<O 6>4>E=4565=<O < 6>4>>F6545=<O $5E?G5?<>< �DO<) > 
D476<F<< E>>F65FEF6GNM5= E<EF5<O 6>4>E=4565=<O 6 G4EF<, >F=>EOM5=EO > E<EF5<4< 
F5??>E=4565=<O 

�D54?>65=<O > D476<F<< E<EF5<O 6>4>E=4565=<O 6 G4EF<, >F=>EOM5=EO > E<EF5<4< 
F5??>E=4565=<O, >FEGFEF6GNF.
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$����� 14. ������&�$/ $����&�/ %�%&�� 
&����%�������/ ��%�����/, ��$��%���� ��$'��, ��$��� 
$���$��,���� ���'���/ 

&45?<F4 23. �=4<>4F>DO D476<F<O E<EF5<O F5??>E=4565=<O <G=<F<?4?L=>7> 
>5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 

7 ?/? 
�=4<>4F>DO D476<F<O E<EF5< F5??>E=4565=<O 

?>E5?5=<O 
�4.<7<. 

%GM5EF6GNM55 
?>?>65=<5 (2022 

7>4) 

�6<445<O5 
?>>474F5?< 
(2028 7>4) 

1 
�>?<G5EF6> ?D5>D4M5=<= ?>44G< F5??>6>= M=5D7<<, 

F5??>=>E<F5?O 6 D57G?LF4F5 F5E=>?>7<G5E><E 
=4DGL5=<= =4 F5??>6OE E5FOE; 

54. 0 0 

2 
'EF4=>6?5==4O <>M=>EFL F5=FD4?<7>64==>7> <EF>G=<>4 

F5??>E=4565=<O 
�>4?/G4E 6,552 5,16 

3 �OD45>F4=> F5??>6>= M=5D7<< �>4? 7 668,81 6 901,93 
4 �F?GM5=> 6 E5FL F5??>E=4565=<O �>4? 7 517,08 6 765,37 
5 �>?57=O= >F?GE> F5??>6>= M=5D7<< �>4? 6 547,85 6 400,00 

6 
�>?<G5EF6> ?D5>D4M5=<= ?>44G< F5??>6>= M=5D7<<, 

F5??>=>E<F5?O 6 D57G?LF4F5 F5E=>?>7<G5E><E 
=4DGL5=<= =4 <EF>G=<>4E F5??>6>= M=5D7<<; 

54. 0 0 

7 

'45?L=O= D4EE>4 GE?>6=>7> F>??<64 =4 54<=<FG 
F5??>6>= M=5D7<<, >F?GE>45<>= E >>??5>F>D>6 

<EF>G=<>4 F5??>6>= M=5D7<< (>F45?L=> 4?O F5??>6OE 
M?5>FD<G5E><E EF4=F<= < >>F5?L=OE); 

F.G.F./ 
�>4? 

0,195 0,157 

8 
�F=>L5=<5 65?<G<=O F5E=>?>7<G5E><E ?>F5DL F5??>6>= 
M=5D7<<, F5??>=>E<F5?O > <4F5D<4?L=>= E4D4>F5D<EF<>5 

F5??>6>= E5F<; 
�>4? / <;< 1,299 1,039 

9 
�>MDD<F<5=F <E?>?L7>64=<O GEF4=>6?5==>= F5??>6>= 

<>M=>EF<; 
G/7>4 5280 5280 

10 
'45?L=4O <4F5D<4?L=4O E4D4>F5D<EF<>4 F5??>6OE E5F5=, 

?D<6545==4O > D4EG5F=>= F5??>6>= =47DG7>5; 
<;</�>4?/G 230 205 

11 
�>?O >F?GE>4 F5??>6>= M=5D7<<, >EGM5EF6?O5<>7> 
?>FD55<F5?O< ?> ?D<5>D4< GG5F4, 6 >5M5< >5N5<5 

>F?GM5==>= F5??>6>= M=5D7<<; 
% 87 100 

12 
%D54=56765L5==O= (?> <4F5D<4?L=>= E4D4>F5D<EF<>5) 

ED>> M>E??G4F4F<< F5??>6OE E5F5= 
?5F 20 10 

13 

�F=>L5=<5 <4F5D<4?L=>= E4D4>F5D<EF<>< F5??>6OE 
E5F5=, D5>>=EFDG<D>64==OE 74 7>4, > >5M5= 

<4F5D<4?L=>= E4D4>F5D<EF<>5 F5??>6OE E5F5= 
(D4>F<G5E>>5 7=4G5=<5 74 >FG5F=O= ?5D<>4 < ?D>7=>7 

<7<5=5=<O ?D< D54?<74F<< ?D>5>F>6, G>474==OE 6 
GF65D645==>= EE5<5 F5??>E=4565=<O) 

% 0 100 

14 

�F=>L5=<5 GEF4=>6?5==>= F5??>6>= <>M=>EF< 
>5>DG4>64=<O <EF>G=<>4 F5??>6>= M=5D7<<, 

D5>>=EFDG<D>64==>7> 74 7>4, > >5M5= GEF4=>6?5==>= 
F5??>6>= <>M=>EF< <EF>G=<>4 F5??>6>= M=5D7<< 

(D4>F<G5E>>5 7=4G5=<5 74 >FG5F=O= ?5D<>4 < ?D>7=>7 
<7<5=5=<O ?D< D54?<74F<< ?D>5>F>6, G>474==OE 6 

GF65D645==>= EE5<5 F5??>E=4565=<O) 

% 0 100 

15 
�E=4M5=<5 45>=5=F>6 >5M54><>6O<< ?D<5>D4<< GG5F4 

F5??>6>= M=5D7<< 
% 0 100 

4) >>?<G5EF6> ?D5>D4M5=<= ?>44G< F5??>6>= M=5D7<<, F5??>=>E<F5?O 6 D57G?LF4F5 
F5E=>?>7<G5E><E =4DGL5=<= =4 F5??>6OE E5FOE 

�4==O5 ?> EF4F<EF<>5 >F>47>6 F5??>6OE E5F5= (464D<==OE E<FG4F<=) 74 ?>E?54=<5 5 ?5F 
=5 ?D54>EF46?5=O. 

�F>47O F5??>6OE E5F5= 6 2022 7>4G >FEGFEF6>64?<. 
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5) >>?<G5EF6> ?D5>D4M5=<= ?>44G< F5??>6>= M=5D7<<, F5??>=>E<F5?O 6 D57G?LF4F5 
F5E=>?>7<G5E><E =4DGL5=<= =4 <EF>G=<>4E F5??>6>= M=5D7<< 

�F>47O >5>DG4>64=<O 6 2022 7>4G >FEGFEF6>64?<. 

6) G45?L=O= D4EE>4 GE?>6=>7> F>??<64 =4 54<=<FG F5??>6>= M=5D7<<, >F?GE>45<>= E 
>>??5>F>D>6 <EF>G=<>>6 F5??>6>= M=5D7<< (>F45?L=> 4?O F5??>6OE M?5>FD<G5E><E 
EF4=F<= < >>F5?L=OE) 

'45?L=O= D4EE>4 GE?>6=>7> F>??<64 =4 54<=<FG F5??>6>= M=5D7<<, >F?GE>45<>= E 
>>??5>F>D>6 <EF>G=<>>6 F5??>6>= M=5D7<< ?D54EF46?5= 6 F45?<F5 =<65. 

&45?<F4 24. '45?L=O= D4EE>4 GE?>6=>7> F>??<64 =4 54<=<FG F5??>6>= M=5D7<< 
<EF>G=<>>6 F5=FD4?<7>64==>7> F5??>E=4565=<O 

7 7>=O 
45=EF6<O 

�4D5E/�4E5?5==O= ?G=>F 

�>4>6>= 
D4EE>4 

F>??<64, 
F.G.F/7>4 

'45?L=4O 
=>D<4 

D4EE>44 
F>??<64, 

F.G.F./�>4? 

�OD45>F4=> 
F5??>6>= 

M=5D7<< 74 7>4, 
�>4? 

1 ?. �L<=E>4O 285,62 0,293 975,68 
2 ?. �D4E=O= �4O> 532,85 0,138 

6693,129 
3 4. �5E5=5F 435,21 0,154 

7) >F=>L5=<5 65?<G<=O F5E=>?>7<G5E><E ?>F5DL F5??>6>= M=5D7<<, F5??>=>E<F5?O > 
<4F5D<4?L=>= E4D4>F5D<EF<>5 F5??>6>= E5F< 

� F45?<F5 =<65 G>474=> >F=>L5=<5 65?<G<=O F5E=>?>7<G5E><E ?>F5DL F5??>6>= M=5D7<<, 
F5??>=>E<F5?O > <4F5D<4?L=>= E4D4>F5D<EF<>5 F5??>6>= E5F<. 

&45?<F4 25. �F=>L5=<5 65?<G<=O F5E=>?>7<G5E><E ?>F5DL F5??>6>= M=5D7<<, 
F5??>=>E<F5?O > <4F5D<4?L=>= E4D4>F5D<EF<>5 F5??>6>= E5F< 

7 7>=O 
45=EF6<

O 

�4D5E/�4E5?5==
O= ?G=>F 

�>F5D< F5??>6>= M=5D7<<, 
�>4? 

�4F5D<4?L=4O E4D4>F5D<EF<>4 F5??>6>= 
E5F<, <2 

 �F=>L5=<5, 
�>4?/<2 

1 ?. �L<=E>4O 98,90 159,17 0,621 

2 
?. �D4E=O= 

�4O> 870,311 586,93 1,483 
3 4. �5E5=5F 

4) >>MDD<F<5=F <E?>?L7>64=<O GEF4=>6?5==>= F5??>6>= <>M=>EF< 

&45?<F4 26. �>MDD<F<5=F <E?>?L7>64=<O GEF4=>6?5==>= F5??>6>= <>M=>EF< 

7 7>=O 
45=EF6<O 

�4D5E/�4E5?5==O= ?G=>F 
$4E?>?4745<4O 

<>M=>EFL, ND4E?, 
�>4?/G 

�>4>?NG5==4O =47DG7>4 
?>FD55<F5?5=, N?>4, �>4?/G 

�>MDD<F<5=F 
<E?>?L7>64=<O 
GEF4=>6?5==>= 

<>M=>EF< 
1 ?. �L<=E>4O 2,08 0,4577 0,51 
2 ?. �D4E=O= �4O> 2,58 1,676618 0,76 
3 4. �5E5=5F 1,892 1,231567 0,72 

5) G45?L=4O <4F5D<4?L=4O E4D4>F5D<EF<>4 F5??>6OE E5F5=, ?D<6545==4O > D4EG5F=>= 
F5??>6>= =47DG7>5 

�4==O5 >5 G45?L=>= <4F5D<4?L=>= E4D4>F5D<EF<>5 F5??>6OE E5F5=, ?D<6545==>= > 
D4EGUF=>= F5??>6>= =47DG7>5, ?D54EF46?5=O 6 F45?<F5 =<65. 
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&45?<F4 27. '45?L=4O <4F5D<4?L=4O E4D4>F5D<EF<>4 F5??>6OE E5F5=, ?D<6545==4O 
> D4EG5F=>= F5??>6>= =47DG7>5 

7 
7>=O 
45=E
F6<O 

�4D5E/�4E
5?5==O= 

?G=>F 

�4F5D<4?L=4O 
E4D4>F5D<EF<>4, <2 

&5??>64O 
=47DG7>4, 

�>4?/G 

'45?L=4O <4F5D<4?L=4O E4D4>F5D<EF<>4 F5??>6OE E5F5=, 
?D<6545==4O > D4EG5F=>= F5??>6>= =47DG7>5, <2/�>4?/G 

1 
?. 

�L<=E>4O 
159,17 0,4577 347,756 

2 
?. 

�D4E=O= 
�4O> 

361,97 1,676618 215,893 

3 4. �5E5=5F 224,96 1,231567 182,662 

6) 4>?O F5??>6>= M=5D7<<, 6OD45>F4==>= 6 >><5<=<D>64==>< D56<<5 (>4> 
>F=>L5=<5 65?<G<=O F5??>6>= M=5D7<<, >F?GM5==>= <7 >F5>D>6 FGD5>47D574F>6, > >5M5= 
65?<G<=5 6OD45>F4==>= F5??>6>= M=5D7<< 6 7D4=<F4E ?>E5?5=<O, 7>D>4E>>7> >>DG74, 
7>D>44 D545D4?L=>7> 7=4G5=<O) 

�4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 >FEGFEF6GNF 
<EF>G=<>< E >><5<=<D>64==>= 6OD45>F>>= F5??>6>= < M?5>FD<G5E>>= M=5D7<<. 

7) G45?L=O= D4EE>4 GE?>6=>7> F>??<64 =4 >F?GE> M?5>FD<G5E>>= M=5D7<< 

�4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 >FEGFEF6GNF 
<EF>G=<>< E >><5<=<D>64==>= 6OD45>F>>= F5??>6>= < M?5>FD<G5E>>= M=5D7<<. 

<) >>MDD<F<5=F <E?>?L7>64=<O F5??>FO F>??<64 (F>?L>> 4?O <EF>G=<>>6 F5??>6>= 
M=5D7<<, DG=>F<>=<DGNM<E 6 D56<<5 >><5<=<D>64==>= 6OD45>F>< M?5>FD<G5E>>= < 
F5??>6>= M=5D7<<) 

�4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 >FEGFEF6GNF 
<EF>G=<>< E >><5<=<D>64==>= 6OD45>F>>= F5??>6>= < M?5>FD<G5E>>= M=5D7<<. 

>) 4>?O >F?GE>4 F5??>6>= M=5D7<<, >EGM5EF6?O5<>7> ?>FD55<F5?O< ?> ?D<5>D4< 
GG5F4, 6 >5M5< >5N5<5 >F?GM5==>= F5??>6>= M=5D7<< 

�>?O >F?GE>4 F5??>6>= M=5D7<<, >EGM5EF6?O5<>7> ?>FD55<F5?O< ?> ?D<5>D4< GGUF4, 6 
>5M5< >5NU<5 >F?GM5==>= F5??>6>= M=5D7<<, E>EF46?O5F 87%. 

?) ED54=56765L5==O= (?> <4F5D<4?L=>= E4D4>F5D<EF<>5) ED>> M>E??G4F4F<< 
F5??>6OE E5F5= (4?O >464>= E<EF5<O F5??>E=4565=<O) 

%D54=56765L5==O= ED>> M>E??G4F4F<< F5??>6OE E5F5= D4EEG<FO645FEO ?> <E 
<4F5D<4?L=>= E4D4>F5D<EF<>5 4?O >464>= E<EF5<O F5??>E=4565=<O. �>D<4F<6=4O 65?<G<=4 
ED>>4 M>E??G4F4F<< &% E>EF46?O5F 25 ?5F. �D56OL5=<5 =>D<4F<6=>7> ED>>4 M>E??G4F4F<< 
?D<6>4<F < > D>EFG 74FD4F =4 ?D>6545=<5 464D<==>-6>EEF4=>6<F5?L=OE D45>F. 

%D54=56765L5==O= (?> <4F5D<4?L=>= E4D4>F5D<EF<>5) ED>> M>E??G4F4F<< F5??>6OE E5F5= 
E>EF46?O5F 20 ?5F. 
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<) >F=>L5=<5 <4F5D<4?L=>= E4D4>F5D<EF<>< F5??>6OE E5F5=, D5>>=EFDG<D>64==OE 
74 7>4, > >5M5= <4F5D<4?L=>= E4D4>F5D<EF<>5 F5??>6OE E5F5= (D4>F<G5E>>5 7=4G5=<5 74 
>FG5F=O= ?5D<>4 < ?D>7=>7 <7<5=5=<O ?D< D54?<74F<< ?D>5>F>6, G>474==OE 6 
GF65D645==>= EE5<5 F5??>E=4565=<O) (4?O >464>= E<EF5<O F5??>E=4565=<O, 4 F4>65 4?O 
?>E5?5=<O, 7>D>4E>>7> >>DG74, 7>D>44 D545D4?L=>7> 7=4G5=<O) 

�F=>L5=<5 <4F5D<4?L=>= E4D4>F5D<EF<>< F5??>6OE E5F5=, D5>>=EFDG<D>64==OE 74 2022 
7>4, E>7?4E=> ?D54>EF46?5==O< 44==O<, > >5M5= <4F5D<4?L=>= E4D4>F5D<EF<>5 F5??>6OE E5F5= 
E>EF46?O5F 0%. 

=) >F=>L5=<5 GEF4=>6?5==>= F5??>6>= <>M=>EF< >5>DG4>64=<O <EF>G=<>>6 
F5??>6>= M=5D7<<, D5>>=EFDG<D>64==>7> 74 7>4, > >5M5= GEF4=>6?5==>= F5??>6>= <>M=>EF< 
<EF>G=<>>6 F5??>6>= M=5D7<< (D4>F<G5E>>5 7=4G5=<5 74 >FG5F=O= ?5D<>4 < ?D>7=>7 
<7<5=5=<O ?D< D54?<74F<< ?D>5>F>6, G>474==OE 6 GF65D645==>= EE5<5 F5??>E=4565=<O) 
(4?O ?>E5?5=<O, 7>D>4E>>7> >>DG74, 7>D>44 D545D4?L=>7> 7=4G5=<O) 

'EF4=>6?5==4O F5??>64O <>M=>EFL >5>DG4>64=<O <EF>G=<>>6 F5??>6>= M=5D7<<, 
D5>>=EFDG<D>64==>7> 74 2022 7>4, E>EF46?O5F 0% >F >5M5= GEF4=>6?5==>= <>M=>EF<. 

>) >FEGFEF6<5 74D<>E<D>64==OE D4>F>6 =4DGL5=<O 4=F<<>=>?>?L=>7> 
74>>=>44F5?LEF64 (6O44==OE ?D54G?D5645=<=, ?D54?<E4=<=), 4 F4>65 >FEGFEF6<5 
?D<<5=5=<O E4=>F<=, ?D54GE<>FD5==OE �>45>E>< $>EE<=E>>= $545D4F<< >5 
44<<=<EFD4F<6=OE ?D46>=4DGL5=<OE, 74 =4DGL5=<5 74>>=>44F5?LEF64 $>EE<=E>>= 
$545D4F<< 6 ED5D5 F5??>E=4565=<O, 4=F<<>=>?>?L=>7> 74>>=>44F5?LEF64 $>EE<=E>>= 
$545D4F<<, 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< > 5EF5EF65==OE <>=>?>?<OE 

�4D<>E<D>64==OE D4>F>6 =4DGL5=<O 4=F<<>=>?>?L=>7> 74>>=>44F5?LEF64 (6O44==OE 
?D54G?D5645=<=, ?D54?<E4=<=), 4 F4>65 ?D<<5=5=<O E4=>F<=, ?D54GE<>FD5==OE �>45>E>< 
$>EE<=E>>= $545D4F<< >5 44<<=<EFD4F<6=OE ?D46>=4DGL5=<OE, 74 =4DGL5=<5 74>>=>44F5?LEF64 
$>EE<=E>>= $545D4F<< 6 ED5D5 F5??>E=4565=<O, 4=F<<>=>?>?L=>7> 74>>=>44F5?LEF64 
$>EE<=E>>= $545D4F<<, 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< > 5EF5EF65==OE <>=>?>?<OE =5 
<<55FEO. 
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$����� 14. &����/� (&�$�$�/�) ��%���%&��/ 

4) F4D<D=>-54?4=E>6O5 D4EG5F=O5 <>45?< F5??>E=4565=<O ?>FD55<F5?5= ?> >464>= 
E<EF5<5 F5??>E=4565=<O 

 

$<EG=>> 13. &4D<D=>-54?4=E>64O D4EG5F=4O <>45?L F5??>E=4565=<O ?>FD55<F5?5= 
F5??>6>= M=5D7<< >F >>F5?L=>= ��� «&� %565D=4O» 

 

$<EG=>> 14. &4D<D=>-54?4=E>64O D4EG5F=4O <>45?L F5??>E=4565=<O ?>FD55<F5?5= 
F5??>6>= M=5D7<< >F >>F5?L=OE ��� «�5F5D5GD7F5??>M=5D7>» 

5) F4D<D=>-54?4=E>6O5 D4EG5F=O5 <>45?< F5??>E=4565=<O ?>FD55<F5?5= ?> >464>= 
54<=>= F5??>E=4564NM5= >D74=<74F<< 

&4D<D=>-54?4=E>6O5 D4EG5F=O5 <>45?< F5??>E=4565=<O ?> >464>= 54<=>= 
F5??>E=4564NM5= >D74=<74F<< ?D<6545=O =4 [$<EG=>> 13, $<EG=>> 14]. 

0,00

500,00

1 000,00

1 500,00

2 000,00

2 500,00

3 000,00

3 500,00

4 000,00

4 500,00

2022 2023 2024 2025 2026 2027 2028

0,00

500,00

1 000,00

1 500,00

2 000,00

2 500,00

3 000,00

3 500,00

4 000,00

4 500,00

2022 2023 2024 2025 2026 2027 2028



%E5<4 F5??>E=4565=<O <G=<F<?4?L=>7> >5D47>64=<O �L<=E>>5 E5?LE>>5 ?>E5?5=<5 �G6E>>7> <G=<F<?4?L=>7> 
D4=>=4 �5=<=7D44E>>= >5?4EF< 4> 2028 7>44 

48 
 

6) D57G?LF4FO >F5=>< F5=>6OE (F4D<D=OE) ?>E?54EF6<= D54?<74F<< ?D>5>F>6 EE5<O 
F5??>E=4565=<O =4 >E=>64=<< D47D45>F4==OE F4D<D=>-54?4=E>6OE <>45?5= 

�?O GF65D645=<O F4D<D4 =4 F5??>6GN M=5D7<N ?D><76>4<FEO M>E?5DF=4O >F5=>4 
?D54?>65=<= >5 GEF4=>6?5=<< F4D<D4 =4 F5??>6GN M=5D7<N, 6 >>F>DGN 6E>4OF F4><5 ?>>474F5?< 
>4>: 6OD45>F>4 F5??>6>= M=5D7<<, E>5EF65==O5 =G64O >>F5?L=>=, ?>F5D< F5??>6>= M=5D7<<, 
>F?GE> F5??>6>= M=5D7<<, 74>G?>4 <>F>D=>7> F>??<64, ?D>G<E <4F5D<4?>6 =4 =G64O 
?D54?D<OF<O, ??4F4 74 M?5>FD>M=5D7<N, E>?>4=>5 6>4>E=4565=<5, >??4F4 FDG44 D45>F=<>4< 
?D54?D<OF<O, 4D5=4=O5 D4EE>4O < =4?>7>6O5 E5>DO < ?D>G55. �4 >E=>64=<< 
6OL5?5D5G<E?5==>7> D>D<<DG5FEO F5=4 F4D<D4 =4 F5??>6GN M=5D7<N, >>F>D4O ?D>E>4<F 
E?GL4=<O < 74M<FG 6 >><<F5F5 ?> F4D<D4<. 

� E6O7< E M>>=><<G5E>>= =5EF45<?L=>EFLN =56>7<>6=> D54?L=> >F5=<FL ?>E?54EF6<O 
<7<5=5=<O F4D<D4 =4 F5??>6GN M=5D7<N. �D<=OF>, GF> F5=O =4 F5??>6GN M=5D7<N 5G4GF 
<7<5=OFLEO E>7?4E=> «�D>7=>7G 4>?7>ED>G=>7> E>F<4?L=>-M>>=><<G5E>>7> D476<F<O $>EE<=E>>= 
$545D4F<< =4 ?5D<>4 4> 2030 7>44». � F45?<F5 =<65 ?D54EF46?5= ?D>7=>7 D>EF4 F4D<D>6 =4 
F>64DO (GE?G7<) <=DD4EFDG>FGD=OE >><?4=<= 4?O =4E5?5=<O < F4D<D>6 =4 GE?G7< >D74=<74F<= 
��% 6 2016-2030 7. 

&45?<F4 28. �D>7=>7 D>EF4 F4D<D>6 =4 GE?G7< >D74=<74F<= ��% 6 2016-2030 7. 

 �4D<4=F 2016 - 2020 
2021 - 
2025 

2026 - 2030 
2016 - 
2030 

$>EF F5= =4 747 4?O =4E5?5=<O (4> G>474==>7> 6 
E>>5>4E 7>44 - >?F>6OE F5=, 44?55 - 6>?NG4O =44546>< 

�$� < �%%'), % 

1 (2020) 201 166 113 377 

2 (2019) 201 136 110 301 

3 (2018) 176 124 123 268 

$>EF F4D<D>6 =4 M?5>FD>M=5D7<N 4?O =4E5?5=<O =4 
D>7=<G=>< DO=>5 E GG5F>< E65DE=>D<4F<6=>7> 
?>FD55?5=<O (6>?NG4O ?L7>F=O5 >4F57>D<<), % 

1 179 164 136 401 

2 179 154 128 352 

3 179 154 114 313 

%>>F=>L5=<5 F5= (F4D<D>6) =4 M?5>FD>M=5D7<N 4?O 
=4E5?5=<O (557 GG5F4 >??4FO =4E5?5=<5< 74 

E65DE=>D<4F<6=>5 ?>FD55?5=<5) < F5= 4?O ?D>G<E 
>4F57>D<= ?>FD55<F5?5=, =4 >>=5F ?5D<>44 (D47) 

1 0,99 1,3 1,7  

2 1,1 1,4 1,7  

3 1,2 1,7 1,7  

&5??>64O M=5D7<O 
D>EF F4D<D>6, % 

1 140 130 115 209 

2 134 127 115 195 

3 131 126 117 193 

%?D46>G=O5 44==O5: 
$>EF F4D<D>6 =4 GE?G7< ��%, % 

1 149 137 119 243 

2 147 132 119 231 

3 143 131 120 223 

�=D?OF<O (��&), % 

1 127 121 114 176 

2 127 120 114 174 

3 124 119 116 171 

 


